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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622879
Question Shuffling Allowed : Yes

Question Id : 5362282003 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five different

streams namely IT, Management. Commerce. Science and Arts in a college during the
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled in
the college. Based on the data in the table, answer the questions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentage (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

Sub questions

Question Number : 1 Question Id : 5362282004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of boys enrolled in Management stream and IT stream together?

(1) 1050 (2) 810
(3) 1120 (4) 980
Options :

5362287801. 1
5362287802. 2



5362287803. 3
5362287804. 4

Question Number : 2 Question Id : 5362282005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled in
science?

(1) 14: 23 2y 233
(3) 114 :121 (4)y 53:65
Options :

5362287805. 1
5362287806. 2
5362287807. 3
5362287808. 4

Question Number : 3 Question Id : 5362282006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4) 480
Options :

5362287809. 1
5362287810. 2
5362287811.3
5362287812. 4

Question Number : 4 Question Id : 5362282007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If 20% of the girls enrolled 1n Science change their stream to management. then what will be
the new number of students belonging to management stream altogether?

(1) 593 (2) 733
(3) 453 (4) 1003
Options :

5362287813. 1
5362287814.2
5362287815.3
5362287816. 4

Question Number : 5 Question Id : 5362282008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled in Arts, Science and Commerce streams together forms what
percent (%) of total number of students in the college?

(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362287817. 1
5362287818. 2
5362287819. 3
5362287820. 4

Question Id : 5362282003 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362282004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1050 (2) 810
(3) 1120 (4) 980

Options :

5362287801. 1
5362287802. 2
5362287803. 3
5362287804. 4

Question Number : 2 Question Id : 5362282005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 14:23 2 2:3
(3) 114:121 (4) 53:65

Options :

5362287805. 1
5362287806. 2
5362287807. 3
5362287808. 4

Question Number : 3 Question Id : 5362282006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 450 (2) 495
(3) 245 (4) 480

Options :

5362287809. 1
5362287810. 2
5362287811. 3
5362287812. 4

Question Number : 4 Question Id : 5362282007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 593 (2) 733
(3) 453 (4) 1003
Options :



5362287813. 1
5362287814.2
5362287815. 3
5362287816. 4

Question Number : 5 Question Id : 5362282008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362287817. 1
5362287818. 2
5362287819. 3
5362287820. 4

Sub-Section Number : 2
Sub-Section Id : 53622880
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362282009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of teaching uses higher level of cognitive abilities as specified 1n Bloom's
taxonomy?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
Options :

5362287821. 1
5362287822.2
5362287823.3



5362287824. 4

Question Number : 6 Question Id : 5362282009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

91201 1 = AT TR w7H % S 5§ 39 FieE HSEeas Tl 1 0= el 7

1) e (2) Y =
(3)  TamEi =W (4) TEEE fTFm ==
Options :

5362287821. 1
5362287822.2
5362287823. 3
5362287824. 4

Question Number : 7 Question Id : 5362282010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching strategy best suited to deal with students who 1n terms of performance
readiness level are in the category of ‘able but unwilling’, will be,

(1) Assigning challenging tasks and delegation of roles
(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision
(4) Keeping the tasks specific and soft
Options :
5362287825. 1
5362287826. 2

5362287827. 3
5362287828. 4

Question Number : 7 Question Id : 5362282010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362287825 1
5362287826. 2
5362287827. 3
5362287828. 4

Question Number : 8 Question Id : 5362282011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be the behavioural competencies 1n an effective teaching-
behawviour repertoire?

(A) Self efficacy and locus of control
(B) Planming and teaching

(C) Managing and monitoring

(D)  Evaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A), (D) and (E) only (4) (0C), (D)and (E) only
Options :

5362287829. 1



5362287830. 2
5362287831.3
5362287832. 4

Question Number : 8 Question Id : 5362282011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287829. 1
5362287830. 2
5362287831.3
5362287832. 4

Question Number : 9 Question Id : 5362282012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of students’
score 1s positively skewed. Hence, the mean of scores will be greater than

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the three

measures of central tendency colncide.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362287833. 1
5362287834.2
5362287835.3
5362287836. 4

Question Number : 9 Question Id : 5362282012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362287833. 1
53622878342

5362287835. 3
5362287836. 4

Question Number : 10 Question Id : 5362282013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planned.
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all levels
of education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362287837. 1
5362287838. 2

5362287839.3
5362287840. 4

Question Number : 10 Question Id : 5362282013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287837. 1
5362287838. 2
5362287839. 3
5362287840. 4

Question Number : 11 Question Id : 5362282014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research focuses on enhancing the corpus of knowledge 1n a given
field?

(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
Options :

5362287841. 1
5362287842.2



5362287843.3
5362287844. 4

Question Number : 11 Question Id : 5362282014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287841. 1
5362287842.2
5362287843. 3
5362287844. 4

Question Number : 12 Question Id : 5362282015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research method emplovs internal and external criticism for sifting as
evidences and data?

(1) Ex post facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
Options :

5362287845. 1
5362287846. 2
5362287847.3
5362287848. 4

Question Number : 12 Question Id : 5362282015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287845. 1
5362287846. 2
5362287847.3
5362287848. 4

Question Number : 13 Question Id : 5362282016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control. observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362287849. 1
5362287850. 2
5362287851. 3



5362287852. 4

Question Number : 13 Question Id : 5362282016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287849. 1
5362287850. 2
5362287851. 3
5362287852. 4

Question Number : 14 Question Id : 5362282017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1=

the focus of study.

Statement II: A sample 1s a sub-aggregate drawn from a defined aggregate to represent it.

In the hght of the above statements, choose the most appropriate answer from the options

o1ven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362287853. 1
5362287854. 2
5362287855. 3
5362287856. 4

Question Number : 14 Question Id : 5362282017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287853. 1
5362287854.2
5362287855. 3
5362287856. 4

Question Number : 15 Question Id : 5362282018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the research
findings and thelr use 1n authentic situations.

Reasons (R) : Application of ICT in research vouches for credibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1= false but (R) 1s true
Options :
5362287857. 1
5362287858. 2

5362287859. 3
5362287860. 4

Question Number : 15 Question Id : 5362282018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287857. 1

5362287858. 2

5362287859. 3
5362287860. 4

Question Number : 16 Question Id : 5362282019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Immediacy of cues In communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Physzical fitness (4) Social expectations
Options :

5362287861. 1
5362287862. 2



5362287863. 3
5362287864. 4

Question Number : 16 Question Id : 5362282019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287861. 1
5362287862. 2
5362287863. 3
5362287864. 4

Question Number : 17 Question Id : 5362282020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B) Training individual students in commumecation skills

(C) Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only 2  (C). (D). (E) only
(3)  (B).(C). (D) only (4) (B). (D). (E) only
Options :

5362287865. 1
5362287866. 2
5362287867. 3
5362287868. 4

Question Number : 17 Question Id : 5362282020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287865. 1
5362287866. 2
5362287867. 3
5362287868. 4

Question Number : 18 Question Id : 5362282021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Verbal Commumnication takes place 1n real time.

Reason (R) : Written communication 1s synchronous in character as it appears at

different intervals.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

5362287869. 1
5362287870. 2
5362287871. 3
5362287872. 4

Question Number : 18 Question Id : 5362282021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287869. 1
5362287870. 2
5362287871. 3
5362287872. 4

Question Number : 19 Question Id : 5362282022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) MNews book

(C) News sheets

(D) Tabloids

(E) Broad sheets

Choose the correct answer from the options given below :

(1) (O (B). (A). (D). (E) (2) (D), (E). (C), (B), (A)
(3) (A). (B). (C), (E). (D) (4) (B). (C), (D). (E). (A)
Options :

5362287873. 1
5362287874.2
5362287875. 3
5362287876. 4

Question Number : 19 Question Id : 5362282022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362287873. 1
5362287874.2
5362287875. 3
5362287876. 4

Question Number : 20 Question Id : 5362282023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I List IT
(Systems of communication) {(Focussed elements)
(A) Western (I)  Non-competitive and co-operative
(B) Indian (II) Co-existence of binary oppositions
(C) Buddhist (ITITI) Emotional variants
(D) Chinese (IV) Rhetorical devices

Choose the correct answer from the options given below :

1 (A-D. (B)-ID), (C)-(IV), (D)-(II)
(2)  (A)-@V), (B)-III). (C)-(D), (D)-(IL)
(3)  (A-ID. (B)-(IV). (O)-ID). (D)-(I)

4  (A)-OV). (B)-(I). (C)-(I1II), (D)-(II)
Options :
5362287877. 1
5362287878. 2
5362287879. 3
5362287880. 4

Question Number : 20 Question Id : 5362282023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1  @-D. (B)-II). (C)-(IV), (D)-(II)
(2)  (A)-IV). (B)-(II). (C)-(I), (D)-(II)
(3)  (A-ID. (B)-(IV). (C)-(ID), (D)-(I)

4)  (A)-IV). (B)-), (C)-(IIT), (D)-(II)
Options :
5362287877. 1
5362287878. 2
5362287879. 3
5362287880. 4

Question Number : 21 Question Id : 5362282024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Three persons are walking around a ground. They take 20. 30 and 40 minutes to complete
one round. If they start from a single point together, they will meet again at that point after.

(1) 1 hour (2) I%hour
1
(3) 2 hour (4) 2§ hour
Options :

5362287881. 1
5362287882.2
5362287883. 3
5362287884. 4

Question Number : 21 Question Id : 5362282024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A =afed U U = FEC S R B | 36 HEM R U S99 T H HE9: 20, 30 # 40 i o an
= B | Te A Bl FREl T B T W ZEe TNY WA B A1 Thad TET % §1E 39 T WO 5o

1

(1) 192-31 (2) 15 e I
3 2H@-wm @ 2% SeaS

Options :

5362287881. 1
5362287882.2
5362287883. 3
5362287884. 4

Question Number : 22 Question Id : 5362282025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In a class of 65 students. 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 speak
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English and

Bangla. If 12 speak only Hindi then how many speak all the three languages.

(1) 3] (2) 4
3 3 4 2
Options :

5362287885. 1
5362287886. 2
5362287887. 3
5362287888. 4

Question Number : 22 Question Id : 5362282025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

65 Terntet anel v wen | 27 Fendl B @ied 2, 21 Bl oush aew # e 17 fHendt aven sed

21 7 Tl === U 310 a1 9ed 7, 6 Tl #am 5= A =men 9red 7 oawn 5 faEmefl wee

AU AT "0 Ao 2 | T2 12 Tl Fae =2 "o 7 91 ead el o i1 9 s #

(1) 5 (2) 4
3 3 4 2
Options :

5362287885. 1
5362287886. 2
5362287887. 3
5362287888. 4

Question Number : 23 Question Id : 5362282026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s

(1) 327 (2) 429

(3) o037 (4) 641



Options :

5362287889. 1
5362287890. 2
5362287891. 3
5362287892. 4

Question Number : 23 Question Id : 5362282026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IW FiHF gur foram Freett w0 3 2160 7 | 39H & T 91 JEr B -Hf 26t

(1) 327 (2) 429
(3) 237 (4) 641
Options :

5362287889. 1
5362287890. 2
5362287891. 3
5362287892. 4

Question Number : 24 Question Id : 5362282027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A two digit number 1s 4 times the sum of its two digits. The number that i1s formed by
reversing its digits 15 27 more than the original number. What 1s the number?

(n 27 (2) 36
(3) 42 (4) b4
Options :

5362287893. 1
5362287894. 2
5362287895. 3
5362287896. 4

Question Number : 24 Question Id : 5362282027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF I FAFETAT TEAT A AT STH T AT H 470 2 | THE AHN 1 FH seed I 591 T g T °
27 AT9= & | §o1 HEA =4 |

(1) A (2) 36
(3) 42 (4) 54
Options :

5362287893. 1
5362287894. 2
5362287895. 3
5362287896. 4

Question Number : 25 Question Id : 5362282028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of the squares of three numbers 1s 83, while sum of their products taken two at a
time 1s 71. Their sum will be

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362287897. 1
5362287898. 2
5362287899. 3
5362287900. 4

Question Number : 25 Question Id : 5362282028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A\ HEEA % 9 A 83 2 | T W ToA® Bl HEAE R A A0 717 | 39 e w6

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362287897. 1
5362287898. 2
5362287899. 3
5362287900. 4

Question Number : 26 Question Id : 5362282029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Pramanas 1s accepted 1n Vaisheshika philosophy?

(A) Pratvaksha
(B) Anuméan

(C) Upaméana
(D) S'abda

(E)  Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A)and (D) only
Options :

5362287901. 1
5362287902. 2
5362287903. 3



5362287904. 4

Question Number : 26 Question Id : 5362282029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[ [l - 2 . R r - .-u . % -
Mg 9 o hiA—H THIY S99 299 | S=iH 150 IS a7

(A) Izt

(B) =AA

(C) 3THH

D) 5

(E) w39t

Fr= f22 = fameat 0 1w I =g

(1) === (A) 317 (B) (2) =Fa= (B) 311 (C)

(3) === (C) # (D) (4) == (A) F (D)
Options :

5362287901. 1
5362287902. 2
5362287903. 3
5362287904. 4

Question Number : 27 Question Id : 5362282030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I Last IT
(Concept/Doctrine) (School)
(A) Pratityasamudpada (I} Vedant
(B) Abha&ava (IT) Sankhya
(C) Samyavastha (III) Nyayva
(D) Adhyasa (IV) Buddhism

Choose the correct answer from the options given below :

(1 A-D. (B)-ID. (O)-(IV). (D)-(ID)
@  (A-ah. B)-av). (O)-aI). (D)-D
(3 (A)-0V), (B)-IID), (C)-1D). (D)-(D)
@ (A)-AV), B)-1). (C)-11). (D)-(I1D)

Options :

5362287905. 1

5362287906. 2

5362287907. 3
5362287908. 4

Question Number : 27 Question Id : 5362282030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T=i-1 =1 g=i-11 5 gEfem it

-1 11

(e /fagr) (Trer=r )
(A) IR @ =
B) A (ID) ==
(C) === (I1I) =
(D) =T av) =g

(1) (A)-(D). (B)-(III). (C)-(IV), (D)-(II)
(2) (A)-(IL). (B)-(IV). (C)-(III). (D)-(I)
(3) (A)-(IV), (B)-(ITI), (C)-(II), (D)-(I)
(4) (A)-(IV), (B)-(I). (C)~(II), (D)-(I1I)

Options :

5362287905. 1

5362287906. 2

5362287907. 3
5362287908. 4

Question Number : 28 Question Id : 5362282031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Vahidity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
Options :

5362287909. 1
5362287910. 2



5362287911. 3
5362287912. 4

Question Number : 28 Question Id : 5362282031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

RESEl CE A I e e Tl 1 e e B R e e e s e 2 e L e | e eI e e G e B M e e Al e ol
E 'xEﬁl ?'l-?

(1) T =i (2) =TI A
(3) —=EEE * U (4) =IEETEE H AT
Options :

5362287909. 1
5362287910. 2
5362287911. 3
5362287912. 4

Question Number : 29 Question Id : 5362282032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT :

List I List IT
(Concept) (Philosopher)
(A) Phenomenon and Noumenon (I) Amstotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (III) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(III). (C)-(IV), (D)-IT)
) (A)-IID. (B)-ID). (C)-(D). (D)-(IV)
(3)  (A-IV). B)-(D). (C)-(1D). (D)-(11I)
4 (A)-dD. (B)-IV), (C)-IIL), (D)-(I)

Options :

5362287913. 1
5362287914.2
5362287915. 3
5362287916. 4

Question Number : 29 Question Id : 5362282032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T i F=-I1 & goferd il

-1 THl-11
(T (i)
(A) =2 UF TEA I =g
(B) THIEAI UF ATE{Ea® BT (D s
(C) T4 T3 TR gaag AID) =i+
(D) T T T AV) A
e fau T faet § ® @A ST g

(1)  (A)-D. (B)-(IIL). (C)-(IV). (D)-(IL)
(2)  (A)-IID), (B)-IIL). (C)-(I), (D)-(IV)
(3)  (A)-IV), (B)-T). (C)-(II). (D)-(III)
(4) (A)-(ID)., (B)-(IV). (C)-(IID), (D)-(@)

Options :

5362287913. 1
5362287914.2
5362287915. 3
5362287916. 4

Question Number : 30 Question Id : 5362282033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true if it 1s true

(4) A proposition 1s neither true nor false

Options :
5362287917. 1



5362287918. 2
5362287919. 3
5362287920. 4

Question Number : 30 Question Id : 5362282033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afsid 757 =+ 7w =+ e

(1)  wiosiie U =19 A SN T w7 0l
(2) TGSt =7 91 HE E AYE T 7

(3)  wiasl ®al 7 92 7% ®&l 2 |

(4)  wiamfa 9 a1 92 2 3 F Ted |
Options :

5362287917. 1

5362287918. 2

5362287919. 3
5362287920. 4

Question Number : 31 Question Id : 5362282034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An unsolicited e-mail message sent to many reciplients at once 1s a

(1) Inbox (2) Spam
(3) Virus (4) Attack
Options :

5362287921. 1
5362287922.2
5362287923. 3
5362287924. 4



Question Number : 31 Question Id : 5362282034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HF ACAFATAT T TH WY CHH T HIE FESG S-He 9H0F B A

(1)  ==iFH (2) |
(3) == (4) =%
Options :

5362287921. 1
5362287922.2
5362287923. 3
5362287924. 4

Question Number : 32 Question Id : 5362282035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Operators are special symbols that are used to perform calculations, make
comparisons and check logical condition.

Statement II : Relational operators are used for arithmetic operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1= correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362287925. 1



5362287926. 2
5362287927. 3
5362287928. 4

Question Number : 32 Question Id : 5362282035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo (I):  SATwer e s w2d 2 T ugi afeeed #, e S SR i feafeat i S e

= fore fofan 5man 2

STIF U F AT § ARG e 3 F w3 A
(1) o I3 I3A =8 # |

(2 w13 I =A o 2 |

(3) w1 2 g %99 [I7ed 2 |

@) w1 3EE s g F99 a8 2

Options :

5362287925. 1
5362287926. 2
5362287927. 3
5362287928. 4

Question Number : 33 Question Id : 5362282036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : In peer-to-peer network., there 1s no central server instead each computer can
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362287929. 1
5362287930. 2
5362287931.3
5362287932. 4

Question Number : 33 Question Id : 5362282036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(nH i i~ = r - R ~ r P s i 5
B (I}: HHATE l[l:rr':H A I:EH} JZd9 A Tl g™ TJd1 T80 2141 e ai:,.,h SH T T FOA e
- = Ry r B
Hal 3N U FoEE & E0 H 0 L Hhal |

FoA (ID) :  LAN =afd 5909 #q S0 =1 02t 42a 2l 7 |
IUF FYAT F AT ° ARG faEed § F 5E I =4

(1) = I3 I EH 581 7 |

(2 w1 #R I 2E 7o 2 |

3) =wEITFzFgFEIITE 2|

@ w13 2 g o 1L TF 2 |

Options :

5362287929. 1
5362287930. 2
5362287931. 3
5362287932. 4

Question Number : 34 Question Id : 5362282037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources
(3) Increase the work (4) Monitor the software

Options :

5362287933. 1

5362287934.2

5362287935.3
5362287936. 4

Question Number : 34 Question Id : 5362282037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

2 FOAL T2 3 A1 3 F AT Fgd 1 FAfatad 3 @ 73 i § g9 a9 2

(1) wEaEHd (2) TTET IR ETSAAE TETGAT & HE0 A o
(3 wFE gAY (4) wiFzaE i e

Options :

5362287933. 1
5362287934.2
5362287935. 3
5362287936. 4

Question Number : 35 Question Id : 5362282038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation OCR 1s :

(1) Optical Character Recognition (2) Online Computer Reader
(3) Optical Computer Recognition (4) Optical Control Reader
Options :

5362287937. 1
5362287938. 2
5362287939. 3
5362287940. 4

Question Number : 35 Question Id : 5362282038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FEeR OCR =1 71 91 2

(1)  *ATehel et R @) AT T
(3)  omfewa wogz fwrtee @) onfesa F2ie st

Options :



5362287937. 1
5362287938. 2
5362287939. 3
5362287940. 4

Question Number : 36 Question Id : 5362282039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Alliance
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China
Options :

5362287941. 1
5362287942.2
5362287943. 3
5362287944. 4

Question Number : 36 Question Id : 5362282039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i~

FefAfEd § 8 568 39 9 32T AR IS BHET THE WO EeE /R ATEEdE Th R 2 Y

() ==l @) TS e
(3 S (4) A
Options :

5362287941. 1
5362287942.2
5362287943. 3
5362287944. 4



Question Number : 37 Question Id : 5362282040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Energy production from blomass has traditionally been considered
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing blomass

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

5362287945. 1
5362287946. 2
5362287947.3
5362287948. 4

Question Number : 37 Question Id : 5362282040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= 31 A R e | uw w0 ATeEwEA (A) R gE 0 as (R) FE TR |

AMTFHE (A) ATEAEE ° FoA1 Ie912A T TR £ H FIeA gZed 5T A |
r : Pty ¢ r . r x ~ P
ab (R) : HAEMEE & ged ° 3c9i=d FEA SEATFEES A EEAC eI e il S9YHET = TeTd
T Z |

I9GFA FUET o ATATR § FiEd e O ° wE I g

(D) (A 3R R) ZH & E 3 (R), (A) i T = 2
@ (A 3R R) I F 2 W R). (A) F TE = E 2
3 (A= 29 (R) T=E 7 |
4  (A) 7T 2 T (R) TR 2

Options :

5362287945. 1

5362287946. 2

5362287947. 3
5362287948. 4

Question Number : 38 Question Id : 5362282041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wind power electricity generation which among the following type of rotors 1s most
commonly used?

(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor

Options :
5362287949. 1



5362287950. 2
5362287951. 3
5362287952. 4

Question Number : 38 Question Id : 5362282041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEH HH1 3918 B HeeTigd § H TRE TR % guih (T2T) W |9 9 wartas 5= R s 2 v

(1)  wdiecds T (2) YR T
(3) AT U (4) Sfm T
Options :

5362287949. 1
5362287950. 2
5362287951. 3
5362287952. 4

Question Number : 39 Question Id : 5362282042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance or

continuous exposure of sub lethal dose.
Statement I : Acute toxic effects are long lasting and irreversible mainly caused due to

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362287953. 1
5362287954. 2
5362287955. 3
5362287956. 4

Question Number : 39 Question Id : 5362282042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A= 21 e T e E

FgT (): i sAiaF = 9519 F @ St SF%E ST 9WE 9ad F Had S G Hiew
oot T % =9 A A 2

Foa (I[) : 997 a7 79 daEtas 3 A9FATE 2h 2| 3 T9E o o9 a% G99 12w
TrYE § B o UfaEed 29 & a9 39 9t | S99 % 99 99 i 2 F9 a6 2

SUA HYAT F ATATH | =AwG e 8 ¥ w3 A

(1) == I3 MM =8 2 |

(2) oA I3 2 Ted 2 |

(3) w15 2 g Fo Il 7ed 2 |

4) = [ 5 7 g A &1 7 |
Options :
5362287953. 1
5362287954.2
5362287955. 3
5362287956. 4

Question Number : 40 Question Id : 5362282043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone laver

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A). (C) and (E) only (2) (A), (C), (D) and (E) only
(3)  (A). (B). (C) and (E) only (4) (A). (B). (D) and (E) only
Options :

5362287957. 1

5362287958. 2

5362287959. 3
5362287960. 4

Question Number : 40 Question Id : 5362282043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAfaiEd 3 3 FH- Z2va HEEled [ e 5 matad 7 ¢

(A) g =EA T guR

(B)  SATH WA H & i A e

(C)  wfer sfial o 4 ot AT % AT d GUE e

(D) TR A SEE giaa

F= 7 ™ e § § T IR 96T
1) FF Q). (©) 3 E) @ ¥ (A). (O). D) 3 (E)
(3)  Fa (A). (B). (C) ¥ (E) @ ¥ (A). (B). D) 7 &)

Options :
5362287957. 1



5362287958. 2
5362287959. 3
5362287960. 4

Question Number : 41 Question Id : 5362282044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep
(B) Nalanda
(C) Valabhi
(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B, (C), (D) only

(3) (C). (D). (E) only (4) (D), (E). (A) only
Options :

5362287961. 1
5362287962. 2
5362287963. 3
5362287964. 4

Question Number : 41 Question Id : 5362282044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T HRA § [9ER Fied favataaes Hefaiga 5 9 e e w fwm 97

(A) e

(B) AE

(C)  doordl

D) =g

(E) =il

e fo1 T et | @ R e g

1)  Fa A, B). (© @ F (B). (0). D)
(3) === (C). (D). (E) (4) == (D). (E). (A)

Options :

5362287961. 1
5362287962. 2
5362287963. 3
5362287964. 4

Question Number : 42 Question Id : 5362282045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps followed 1n the process of value clarification :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D). (E) (2) (A, (B). D). (C). (E)
(3) (A, (C). (B). (D). (E) (4)  A). B). (E). (C). (D)
Options :

5362287965. 1
5362287966. 2
5362287967. 3
5362287968. 4

Question Number : 42 Question Id : 5362282045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T TSR] ST H SO AT = S S

Q)  TeEmefai # ow e faam S 2

B)  TaEneft SwfEE T g 3
(C)  Taensft wes fahea % a1 9 3191 WEA T wd # |
(D) Tt weaw e = afomat W fa=m w3 2

(E)  Teremedt s19+t mufaerare == #7d & 31 U oo 9d 7

Fr fau T et 8 @ w8 3w g
(1) (A). (B). (C). (D). (E) (2) (A, (B). (D). (C), (E)
(3) (A). (O), (B), (D). (E) 4) (A). (B). (E). (C). (D)

Options :

5362287965. 1
5362287966. 2
5362287967. 3
5362287968. 4

Question Number : 43 Question Id : 5362282046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER)
in Higher education for the yvear 2018-19. in India 1s

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

Options :
5362287969. 1
5362287970. 2



5362287971. 3
5362287972. 4

Question Number : 43 Question Id : 5362282046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foea = @era 4 =1 71 9 fopu T sifige v odew F AR, 9 9 99 2018-19 7F I=2 e ° wwa
T ST (S 3 9W) B -

(1) 24.6% (2) 25.6%
(3) 26.3% 4 27.8%
Options :

5362287969. 1
5362287970. 2
5362287971. 3
5362287972. 4

Question Number : 44 Question Id : 5362282047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UGC portal "e-SARTS’ 1s for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Traiming in Sciences
(3) Support for Academic and Research Training in Social Sciences

(4) Scholarship-Fellowship Award Registration Tracking System

Options :

5362287973. 1
5362287974.2
5362287975. 3
5362287976. 4



Question Number : 44 Question Id : 5362282047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 51 =i 9 ‘e-STARTS' Ftainad § | o fom 27
(1) o st dtafef 4 sgEam = o fagm wsma
(2  fawm ¥ ufiemr 3t sgEE % foo e |
(3)  THTH AT W WiaE U Iy wiEe e qmea

Options :

5362287973. 1

5362287974 2

5362287975.3
5362287976. 4

Question Number : 45 Question Id : 5362282048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An 1nstitution in the flield of higher education desirous of getting the status of ‘Deemed to be
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities.
(D)  Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1)  (A). B). (C) and (D) only (2) (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (A). (C). (D) and (E) only



Options :

5362287977. 1
5362287978. 2
5362287979. 3
5362287980. 4

Question Number : 45 Question Id : 5362282048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

v=da e % &@ H WiHa FvataEres (Srs 7 o JFatad) w1 3= o Al = wEd ael R e
(A)  HE H FE A FE gE A WA A =i

(B)  F9F 4% (NAAC) #1 &1 3 ff v %8 & %9 3.26 =

(C)  =EmAl i favatere= +i 99 4 9 v A 91 UF % 309 100 T 9 351 919 26 =180 |
(D) =& 9 T -Taendi FATE FH o =9 1:20 BT =0T |

(E)  foreg=t (qma) =1 e %9 @ %8 50 7 |

(1) =4 (A). (B). (C) 3T (D) (2) == (B), (C) # (D)
(3)  F=4 (B). (C). D) 31 (E) (4) F== (A). (C). D) = (E)
Options :

5362287977. 1
5362287978. 2
5362287979. 3
5362287980. 4

Sub-Section Number : 3
Sub-Section Id : 53622881
Question Shuffling Allowed : Yes



Question Id : 5362282049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement, either
through external reward or internal satisfaction. In addition to its effect on the continuation
of a particular behaviour, extinction can also have an emotional impact. We could predict, for
example. with an excellent chance of being correct, that an employvee will become surely, will
complain more than before, or will have problems getting along with his co-workers.
Emotional behaviour usually accompanies extinction when reinforcement or punishment is
withheld. Parents often extinguish behaviours umintentionally when they pay attention only
when their children are behaving poorly. If parents pay little or no attention when the
children are behaving appropriately, they in a sense, put the behaviour on extinetion. A child
who wants attention — a reward — from the parents may be willing to endure what the
parents think is punishment to get it. So, in the long run. the parents might be reinforcing
inappropriate behaviour: yvet it happens all the time. This phenomenon iz also very common
in the world of work. For example, a manager’s work/group had responded well to a high
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this style
1s not achieving results, and followers are being disruptive and making unreasonable
demands. Positively reinforcing inappropriate behaviour generally results In more unwanted
behaviour.

Sub questions

Question Number : 46 Question Id : 5362282050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What do people need to continue working for internal satisfaction?

(1) Some threat

(2) Some emotional reaction

(3) Some pleasant experience after the behaviour occurs
(4) Threat mixed with something pleasant

Options :

5362287981. 1
5362287982. 2
5362287983. 3
5362287984. 4

Question Number : 47 Question Id : 5362282051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When a reinforcement 1s withheld from a worker. 1t may lead. inter alia, to

(1) expectation of getting something pleasant
(2) decrease 1n complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

Options :

5362287985. 1
5362287986. 2
5362287987. 3
5362287988. 4



Question Number : 48 Question Id : 5362282052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour

(3) positive reinforcement

(4) further occurrence of the original behaviour
Options :

5362287989. 1
5362287990. 2
5362287991. 3
5362287992. 4

Question Number : 49 Question Id : 5362282053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positively reinforcing inappropriate behaviour 1s an error because 1t results 1n

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour
(3) misbehaviour
(4) negative emotions
Options :

5362287993. 1
5362287994. 2
5362287995. 3
5362287996. 4

Question Number : 50 Question Id : 5362282054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The focus of the passage 1s on

(1) reward and punishment policies In an organisation

(2) high risk relationship between managers and workers

(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
Options :

5362287997. 1
5362287998. 2
5362287999. 3
5362288000. 4

Question Id : 5362282049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362282050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ST 1 AT Gare & Tad FE AR W@ F 00 7 = A 5 w6 2 7

(1) EzzileE At lore
(2) TS SEATHS T
3 Fd AR 2 WW AH=ETF AT

(4) TP ges TidiEman & =@y auh

Options :

5362287981. 1
5362287982.2
5362287983. 3
5362287984. 4

Question Number : 47 Question Id : 5362282051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W TRE AT W WS B SAa%g TRAT AT 7 a1 SEeR UG 34 ||l 'i-Ey eiengd 0 o

g o =il 27

(1) % TEs TH i ATHE

(2)  forFmEa # a =IEEr J
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(4)  TEEHAF qEAAT H I

Options :
5362287985. 1



5362287986. 2
5362287987. 3
5362287988. 4

Question Number : 48 Question Id : 5362282052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T=l o 1o I ARl =l ey w9 4 Ht 3uan e SH i iont B 2

(1) 9 =9sd & A9 |

(2) 999 =MEER F [0 TERR F 0 A 1

(3) AFRTHF Taed o

(4) W =EE % 9= | gfed w6 |
Options :
5362287989. 1
5362287990. 2
5362287991. 3
5362287992. 4

Question Number : 49 Question Id : 5362282053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEHF T H TSieid A 909 SAaER U 9ol 7 I 3l THd Bl 7

(1) 7994 =J9=R 90 & 4
@) T R o |
(3) FEERH

(4)  TFEOCHF WA

Options :

5362287993. 1
5362287994. 2
5362287995. 3



5362287996. 4

Question Number : 50 Question Id : 5362282054 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=0 e w1 FefetEa 1 9 e w2

(1) T 977 | TEFR 31F 23 et Jiaa ™
(2)  TEEE S SAERET % A R Fiigs 9 ey W
(3) Ay % i weudE gm

(4) OFcHT Taed & TFRIHF 90y

Options :

5362287997. 1
5362287998. 2
5362287999. 3
5362288000. 4

PART II Kashmiri
Section Id : 53622828
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622882
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362282055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362288001. 1
5362288002. 2
5362288003. 3
5362288004. 4

Question Number : 51 Question Id : 5362282055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

838 il Siluslw :

ilid pgls

- wSaslz g
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o)

B

Options :

5362288001. 1
5362288002. 2
5362288003. 3
5362288004. 4

Question Number : 52 Question Id : 5362282056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288005. 1
5362288006. 2
5362288007. 3
5362288008. 4

Question Number : 52 Question Id : 5362282056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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B

Options :

5362288005. 1
5362288006. 2
5362288007. 3
5362288008. 4

Question Number : 53 Question Id : 5362282057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288009. 1
5362288010. 2
5362288011. 3
5362288012. 4

Question Number : 53 Question Id : 5362282057 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288009. 1
5362288010. 2
5362288011. 3
5362288012. 4

Question Number : 54 Question Id : 5362282058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288013. 1
5362288014. 2
5362288015. 3
5362288016. 4

Question Number : 54 Question Id : 5362282058 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288013. 1
5362288014. 2
5362288015.3
5362288016. 4

Question Number : 55 Question Id : 5362282059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288017. 1
5362288018. 2
5362288019. 3
5362288020. 4

Question Number : 55 Question Id : 5362282059 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288017. 1
5362288018. 2
5362288019. 3
5362288020. 4

Question Number : 56 Question Id : 5362282060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288021. 1
5362288022. 2
5362288023. 3
5362288024. 4

Question Number : 56 Question Id : 5362282060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288021. 1
5362288022. 2
5362288023. 3
5362288024. 4

Question Number : 57 Question Id : 5362282061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288025. 1
5362288026. 2
5362288027. 3
5362288028. 4

Question Number : 57 Question Id : 5362282061 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288025. 1
5362288026. 2
5362288027. 3
5362288028. 4

Question Number : 58 Question Id : 5362282062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288029. 1
5362288030. 2
5362288031. 3
5362288032. 4

Question Number : 58 Question Id : 5362282062 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288029. 1
5362288030. 2
5362288031. 3
5362288032. 4

Question Number : 59 Question Id : 5362282063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288033. 1
5362288034. 2
5362288035. 3
5362288036. 4

Question Number : 59 Question Id : 5362282063 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288033. 1
5362288034. 2
5362288035. 3
5362288036. 4

Question Number : 60 Question Id : 5362282064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288037. 1
5362288038. 2
5362288039. 3
5362288040. 4

Question Number : 60 Question Id : 5362282064 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288037. 1
5362288038. 2
5362288039. 3
5362288040. 4

Question Number : 61 Question Id : 5362282065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288041. 1
5362288042. 2
5362288043. 3
5362288044. 4

Question Number : 61 Question Id : 5362282065 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288041. 1
5362288042. 2
5362288043. 3
5362288044. 4



Question Number : 62 Question Id : 5362282066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288045. 1
5362288046. 2
5362288047. 3
5362288048. 4

Question Number : 62 Question Id : 5362282066 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288045. 1
5362288046. 2
5362288047. 3
5362288048. 4

Question Number : 63 Question Id : 5362282067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288049. 1
5362288050. 2
5362288051. 3
5362288052. 4

Question Number : 63 Question Id : 5362282067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288049. 1
5362288050. 2
5362288051. 3
5362288052. 4

Question Number : 64 Question Id : 5362282068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288053. 1
5362288054. 2
5362288055. 3
5362288056. 4

B

Question Number : 64 Question Id : 5362282068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288053. 1
5362288054. 2
5362288055. 3
5362288056. 4
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Question Number : 65 Question Id : 5362282069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
oS Ll o3 gi )lawl g% jho yucpas gzl i Sing oS Ahe”

-8 )iy iz Wi
-8 )lis) jui by
- S )l 17 ileg)
- $)lis) 305 o

B R

Options :

5362288057. 1
5362288058. 2
5362288059. 3
5362288060. 4

Question Number : 65 Question Id : 5362282069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288057. 1
5362288058. 2
5362288059. 3
5362288060. 4

Question Number : 66 Question Id : 5362282070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288061. 1
5362288062. 2
5362288063. 3
5362288064. 4

Question Number : 66 Question Id : 5362282070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288061. 1
5362288062. 2
5362288063. 3
5362288064. 4

Question Number : 67 Question Id : 5362282071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288065. 1
5362288066. 2
5362288067. 3
5362288068. 4

Question Number : 67 Question Id : 5362282071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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2. 8 olow wolwisl sz ilej Ay
3. 05 puiyS i yuigy o7 yuio
4. 55 guijl yuil gl pio

Options :

5362288065. 1
5362288066. 2
5362288067. 3
5362288068. 4

Question Number : 68 Question Id : 5362282072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Joliis vl gSlg ol 35 3o puz wald gindw lsjhSawl

45
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el R

Options :

5362288069. 1
5362288070. 2
5362288071. 3
5362288072. 4

Question Number : 68 Question Id : 5362282072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Joliis 1wl gSlg ol 35 jio pusuus wald Gindw olsjhSawl,

45
50
33
60

o=

Options :

5362288069. 1
5362288070. 2
5362288071. 3
5362288072. 4

Question Number : 69 Question Id : 5362282073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Jolo csmuti 3y 451y ol Fio ol o 535 GibyjlySunly

2. il

= I h

- |‘J_L|J_.L!"_"

4. J> Js
Options :
5362288073. 1
5362288074. 2
5362288075. 3
5362288076. 4

Question Number : 69 Question Id : 5362282073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Jol o3uuati 2y 54519 ol jis ol madiw )35 gilajlSanls
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5 L b

_!'.l‘_J_LlJ_.Lr:‘l
4.0 Js

Options :

5362288073. 1
5362288074. 2
5362288075. 3
5362288076. 4

Question Number : 70 Question Id : 5362282074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2] 43 3o pacrao “gSge) by SU ol )I”

l1olyregg
odiio)le

B B

Options :

5362288077. 1
5362288078. 2
5362288079. 3
5362288080. 4

Question Number : 70 Question Id : 5362282074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L nzed 9% Jio yicrae “gSeg) by S ol I

ljolyeegg
wdli)le

B

Options :

5362288077. 1
5362288078. 2
5362288079. 3
5362288080. 4

Question Number : 71 Question Id : 5362282075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e Hw sl gz jie jucras "e S 1piliic gele yu”

i S gleg)
SSETRUILL Tt
C Y Sy DA

P L P —

Options :

5362288081. 1
5362288082. 2
5362288083. 3
5362288084. 4

Question Number : 71 Question Id : 5362282075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

-3 S glag)
SSITRU LT
. My Sy DA

Fu L P

Options :

5362288081. 1
5362288082. 2
5362288083. 3
5362288084. 4

Question Number : 72 Question Id : 5362282076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



il w2) g2 jie pucpan U g Llgr o2

1. 3y Sl Jac
2. 3y Gyt @5
3. Sila=q

4. SJLLs

Options :

5362288085. 1
5362288086. 2
5362288087. 3
5362288088. 4

Question Number : 72 Question Id : 5362282076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

kil nzj gz jio pucras "bs oo Llgz o2

1. 2y e Jac
2. 3y eayd a3
3. Qilazg

4. SJLLs

Options :

5362288085. 1
5362288086. 2
5362288087. 3
5362288088. 4

Question Number : 73 Question Id : 5362282077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



:olS gigl 8% cpae iy JAi Sy i oy oBl pgF s

Skt st b, T
. Slog JaSe
Sy JaSe

Options :

5362288089. 1
5362288090. 2
5362288091. 3
5362288092. 4

S T A

Question Number : 73 Question Id : 5362282077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

: obS aial 4% croo iy i Ky i oy o8Bl agF s

- Sulphusl 3g25b gl Juog
s, fake
. Syz JaSe

Options :

5362288089. 1
5362288090. 2
5362288091. 3
5362288092. 4

N S U S Qe

Question Number : 74 Question Id : 5362282078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



82 jie yucran “glal il S g00i mbis nol”
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Options :

5362288093. 1
5362288094. 2
5362288095. 3
5362288096. 4

Question Number : 74 Question Id : 5362282078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

82 jis gucras “glal ul BSg0gi b col”

- lligV jhw igizee

Sl o i ogime

L 085 VALY Ljgiaug> P Ugio
e LS Mw Lgize

B

Options :

5362288093. 1
5362288094. 2
5362288095. 3
5362288096. 4

Question Number : 75 Question Id : 5362282079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i = -..:; :
- S)gune gz

)G i iy Iy Sz
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Options :

5362288097. 1
5362288098. 2
5362288099. 3
5362288100. 4

Question Number : 75 Question Id : 5362282079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i nJJ.L'L'_ b \—{;-U-:’ A

- S)gato gLz

) i iy oIy Sz

S U

Options :

5362288097. 1
5362288098. 2
5362288099. 3
5362288100. 4

Question Number : 76 Question Id : 5362282080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D Mo pau 18)8 gisl) gljly 9= )

1. 1348 ¢
2. 1849 ¢
3. 1850 ¢
4, 1951 ¢

Options :

5362288101. 1
5362288102. 2
5362288103. 3
5362288104. 4

Question Number : 76 Question Id : 5362282080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

D Mo g 8)g gusl) gbjly 9= )

1. 1848
2. 1849
3. 1850 «
4. 1951 ¢

Options :

5362288101. 1
5362288102. 2
5362288103. 3
5362288104. 4

Question Number : 77 Question Id : 5362282081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: anyli puo 42 loBuil 58 Lol

33l
4. Ulo ras)

Options :

5362288105. 1
5362288106. 2
5362288107. 3
5362288108. 4

Question Number : 77 Question Id : 5362282081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

s yelis gue 3 ldil ;38 Sl
s»
wlo rogl

BowoN o

Options :

5362288105. 1
5362288106. 2
5362288107. 3
5362288108. 4

Question Number : 78 Question Id : 5362282082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



4% cino Shal "2y

el Lot e

Fu L P —

Options :

5362288109. 1
5362288110. 2
5362288111.3
5362288112. 4

Question Number : 78 Question Id : 5362282082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

6% o Shal "2y

Fu L P —

Options :

5362288109. 1
5362288110. 2
5362288111. 3
5362288112. 4

Question Number : 79 Question Id : 5362282083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ol Jlbl o3 g5 gl g3 jie pucras "ol s s 1y d o’

. Cublel
S5 Bole
)ﬁ_L] ﬂgJ I._EC_-:;L__LiJ
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Fuo L P

Options :

5362288113. 1
5362288114.2
5362288115.3
5362288116. 4

Question Number : 79 Question Id : 5362282083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ol Jlbl o3 g5 gl g3 jie pucras "ol s s 1y d o’

1. Cublel

2. 335 Bile

3. )ﬁ_L] ﬂgJ I._EC_-:;L__LiJ
4, buis 3y pls

Options :

5362288113. 1
5362288114.2
5362288115.3
5362288116. 4

Question Number : 80 Question Id : 5362282084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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o uls o

-l putiyer s Jlusylj
. plgzpge auwl bg o7 L
- pulil a8 2ag) B8

- bl Giisj o8]

Options :

5362288117. 1
5362288118. 2
5362288119. 3
5362288120. 4

B

Question Number : 80 Question Id : 5362282084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

oshiihail - gulz calj g3 ye19 41
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Ly oadyer g Jiiwy
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Options :

5362288117. 1
5362288118. 2
5362288119. 3
5362288120. 4

B



Question Number : 81 Question Id : 5362282085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L oie gubial “oli” g3 US jo pucpas )bl e LIS GlilS iy e

CHIg)
CHU g

- OJg
Hip
Options :
5362288121. 1
5362288122. 2

5362288123.3
5362288124. 4

oW

Question Number : 81 Question Id : 5362282085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

L oie gubial “oli” g3 US jo pucpas )bl e LIS GlilS iy e

CHIg)
CHU g

- OJg
Hip
Options :
5362288121. 1
5362288122. 2

5362288123.3
5362288124. 4

oW

Question Number : 82 Question Id : 5362282086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



P Joyzd o1 8% jio yuc oo “aidy aig ologz ili gw”

H ) LDETeC

Options :

5362288125. 1
5362288126. 2
5362288127. 3
5362288128. 4

e WM =2

Question Number : 82 Question Id : 5362282086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

 Joyzid o1 0% jio pucras “nidy ais ologz Loliuy g

H ) Sl

Options :

5362288125. 1
5362288126. 2
5362288127.3
5362288128. 4

S b

Question Number : 83 Question Id : 5362282087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288129. 1
5362288130. 2
5362288131.3
5362288132. 4

Question Number : 83 Question Id : 5362282087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sousl S Hetub Slo

AL
oLl Sz
Ty e

B

Options :

5362288129. 1
5362288130. 2
5362288131. 3
5362288132. 4

Question Number : 84 Question Id : 5362282088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288133. 1
5362288134.2
5362288135. 3
5362288136. 4

Question Number : 84 Question Id : 5362282088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288133. 1
5362288134.2
5362288135. 3



5362288136. 4

Question Number : 85 Question Id : 5362282089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288137. 1
5362288138. 2
5362288139. 3
5362288140. 4

Question Number : 85 Question Id : 5362282089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288137. 1
5362288138. 2
5362288139. 3
5362288140. 4



Question Number : 86 Question Id : 5362282090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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3. Jp ol e
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Options :

5362288141. 1
5362288142.2
5362288143. 3
5362288144. 4

Question Number : 86 Question Id : 5362282090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288141. 1
5362288142. 2
5362288143.3
5362288144. 4

Question Number : 87 Question Id : 5362282091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288145. 1
5362288146. 2
5362288147. 3
5362288148. 4

Question Number : 87 Question Id : 5362282091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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- olsl waS 3y Jaayl o2 pads

. U|5|_th_;.j Jidls BH_!_U

- olely Ewn U 335 GE i) ol
- sl wlisai jiy gl Lilibgo

B

Options :

5362288145. 1
5362288146. 2
5362288147. 3
5362288148. 4

Question Number : 88 Question Id : 5362282092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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1. 24491
2. 23491
3. 22491
4. 21491

Options :

5362288149. 1
5362288150. 2
5362288151. 3
5362288152. 4

Question Number : 88 Question Id : 5362282092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i i g2 puelipgld puiie izl e g Ol

1. 24491
2. 23491
3. 22491
4. 21491

Options :

5362288149. 1
5362288150. 2
5362288151. 3
5362288152. 4

Question Number : 89 Question Id : 5362282093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288153. 1
5362288154.2
5362288155. 3
5362288156. 4

Question Number : 89 Question Id : 5362282093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IS a3 jsb Sy 10 Si56S gy puigSy Seiie ¢ ST Jlo (g 43 wraS puis Ul g

1ol e
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Options :

5362288153. 1
5362288154.2
5362288155. 3
5362288156. 4

Question Number : 90 Question Id : 5362282094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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B

Options :

5362288157. 1
5362288158. 2
5362288159. 3
5362288160. 4

Question Number : 90 Question Id : 5362282094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362288157. 1
5362288158. 2
5362288159. 3
5362288160. 4

Question Number : 91 Question Id : 5362282095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: = el bl i ez
(A) el b

(B) ahijib

Q) il sl

D)  phi cwlw

(B) bbb

Choose the correct answer from the options given below :

Options :

5362288161. 1
5362288162. 2
5362288163. 3
5362288164. 4

Question Number : 91 Question Id : 5362282095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: = el bl i ez
(A) el b

(B) ahijib

Q) il sl

D)  phi cwlw

(B) bbb

Choose the correct answer from the options given below :

Options :

5362288161. 1
5362288162. 2
5362288163. 3
5362288164. 4

Question Number : 92 Question Id : 5362282096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



olsliinyy gz ki Jg T i skl
(B ac wils
(B)  weiSuds cwiyd
€ Uiz Siglw
D) »jyd

(B) = Joi)d

Choose the correct answer from the options given below :

) only
E) only
), (). (A), (B) only

Options :

5362288165. 1
5362288166. 2
5362288167. 3
5362288168. 4

Question Number : 92 Question Id : 5362282096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



olsliinyy gz ki Jg T i skl
(B ac wils
(B)  weiSuds cwiyd
€ Uiz Siglw
D) »jyd

(B) = Joi)d

Choose the correct answer from the options given below :

) only
E) only
), (). (A), (B) only

Options :

5362288165. 1
5362288166. 2
5362288167. 3
5362288168. 4

Question Number : 93 Question Id : 5362282097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Jmiwl Suat gz phai gb g5 ol

A) 2k S

(B) 2 sygn gleg

€  Sygai ol

(D) 2 gjse) Sylpul

(B) Sy bbsi ogyme

Choose the correct answer from the options given below :

. (C), (E) only
. (), (D) only
C), (D), (E) only
D), (C), (A) only

Options :

5362288169. 1
5362288170. 2
5362288171.3
5362288172. 4

Question Number : 93 Question Id : 5362282097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Jmiwl Suat gz phai gb g5 ol

A) 2k S

(B) 2 sygn gleg

€  Sygai ol

(D) 2 gjse) Sylpul

(B) Sy bbsi ogyme

Choose the correct answer from the options given below :

. (C), (E) only
. (), (D) only
C), (D), (E) only
D), (C), (A) only

Options :

5362288169. 1
5362288170. 2
5362288171.3
5362288172. 4

Question Number : 94 Question Id : 5362282098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Al iy gyeli gau 2% giu syl jlw iliglelu, :
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B b

(€) ubly g

D) e

() 10 il yao

Choose the correct answer from the options given below :

Options :

5362288173. 1
5362288174.2
5362288175. 3
5362288176. 4

Question Number : 94 Question Id : 5362282098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Al iy gyeli gau 2% giu syl jlw iliglelu, :
(A) e Jaw)

B b

(€) ubly g

D) e

() 10 il yao

Choose the correct answer from the options given below :

Options :

5362288173. 1
5362288174.2
5362288175. 3
5362288176. 4

Question Number : 95 Question Id : 5362282099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



yiw Jiols gz rabi 1ylw )
A o b pgS Ay i) iz
B) S5l8

(O L PV

(D) J3iio ~igj

B ohw Sl

Choose the correct answer from the options given below :

Options :

5362288177. 1
5362288178. 2
5362288179. 3
5362288180. 4

Question Number : 95 Question Id : 5362282099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



yiw Jiols gz rabi 1ylw )
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(D) J3iio ~igj

B ohw Sl

Choose the correct answer from the options given below :

Options :

5362288177. 1
5362288178. 2
5362288179. 3
5362288180. 4

Question Number : 96 Question Id : 5362282100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



selin Spbg caly yugl WSiU Jsw) plle yio:
B yelis i oy

B)  yeliv sy Culey

@ selo windc

D) yelis oS sl

B el oulaw

Choose the most appropriate answer from the options given below :

Options :

5362288181. 1
5362288182.2
5362288183. 3
5362288184. 4

Question Number : 96 Question Id : 5362282100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



selin Spbg caly yugl WSiU Jsw) plle yio:
B yelis i oy

B)  yeliv sy Culey

@ selo windc

D) yelis oS sl

B el oulaw

Choose the most appropriate answer from the options given below :

Options :

5362288181. 1
5362288182.2
5362288183. 3
5362288184. 4

Question Number : 97 Question Id : 5362282101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) abi jiw 23l Bz gy 4L 5 b
(B)  ebjiw el gz 28 il pgz e
(@ ahi jiw o3l g2 ol ghjlg)dngils
(D) ahi jiw e3li gz iy D5538S 03)
(E) ab 3w 03U g7 Sisgd Jb yap)

Choose the most appropriate answer from the options given below :

Options :

5362288185. 1
5362288186. 2
5362288187. 3
5362288188. 4

Question Number : 97 Question Id : 5362282101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(A) abi jiw 23l Bz gy 4L 5 b
(B)  ebjiw el gz 28 il pgz e
(@ ahi jiw o3l g2 ol ghjlg)dngils
(D) ahi jiw e3li gz iy D5538S 03)
(E) ab 3w 03U g7 Sisgd Jb yap)

Choose the most appropriate answer from the options given below :

Options :

5362288185. 1
5362288186. 2
5362288187. 3
5362288188. 4

Question Number : 98 Question Id : 5362282102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ay iz gp ) Hw JolS gz cpas S pudiie gay

(A) 093 o8y g5 0Tyl gin
(B) ol byl gl Geied 2Ll
(C) Loyl sie puigws g

(D) ol jlai ue 38 o

(E) ZHOH) 47~

Choose the correct answer from the options given below :

Options :

5362288189. 1
5362288190. 2
5362288191. 3
5362288192. 4

Question Number : 98 Question Id : 5362282102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ay iz gp ) Hw JolS gz cpas S pudiie gay

(A) 093 o8y g5 0Tyl gin
(B) ol byl gl Geied 2Ll
(C) Loyl sie puigws g

(D) ol jlai ue 38 o

(E) ZHOH) 47~

Choose the correct answer from the options given below :

Options :

5362288189. 1
5362288190. 2
5362288191. 3
5362288192. 4

Question Number : 99 Question Id : 5362282103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UTuo A 4 jio gay !

(A) s> 20y aliw 93 jie i “lus”

(B) Jlinh 3 Juwl 3o o “las”

(©) s> o s slhai gz 3ie i “las”
(D) plinl o pulwsl> g2 3ie phai “las”
(E) roe g oliz)e )b g% jie chi “lun”

Choose the most appropriate answer from the options given below :

Options :

5362288193. 1
5362288194. 2
5362288195. 3
5362288196. 4

Question Number : 99 Question Id : 5362282103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UTuo A 4 jio gay !

(A) s> 20y aliw 93 jie i “lus”

(B) Jlinh 3 Juwl 3o o “las”

(©) s> o s slhai gz 3ie i “las”
(D) plinl o pulwsl> g2 3ie phai “las”
(E) roe g oliz)e )b g% jie chi “lun”

Choose the most appropriate answer from the options given below :

Options :

5362288193. 1
5362288194. 2
5362288195. 3
5362288196. 4

Question Number : 100 Question Id : 5362282104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



poe S¥iw ol) gaz) g2 p

1zt S — g3 9)9 UasS palil

1 — g y)S puly 5 e o
(% S AU o3 g sy gl ol
(D) )387) 9= S ~S

(E) o ol oS5 iSiz o

Choose the correct answer from the options given below :

Options :

5362288197. 1
5362288198. 2
5362288199. 3
5362288200. 4

Question Number : 100 Question Id : 5362282104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



poe S¥iw ol) gaz) g2 p

1zt S — g3 9)9 UasS palil

1 — g y)S puly 5 e o
(% S AU o3 g sy gl ol
(D) )387) 9= S ~S

(E) o ol oS5 iSiz o

Choose the correct answer from the options given below :

Options :

5362288197. 1
5362288198. 2
5362288199. 3
5362288200. 4

Question Number : 101 Question Id : 5362282105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Qo ) g3 ollo> 1 rali "g8 pulil” o Ghe
(A) 53 S5sS culys 47 1o 4

(B)  jSw iy BB i jio gl

@ 55 Seahy3 ilisy 3o gil

(D) 155 2y~ Buio g% jio gl

(B) il o8 pweine —gug) —@! 9) 47 jio 4l

Choose the correct answer from the options given below :

Options :

5362288201. 1
5362288202. 2
5362288203. 3
5362288204. 4

Question Number : 101 Question Id : 5362282105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Qo ) g3 ollo> 1 rali "g8 pulil” o Ghe
(A) 53 S5sS culys 47 1o 4

(B)  jSw iy BB i jio gl

@ 55 Seahy3 ilisy 3o gil

(D) 155 2y~ Buio g% jio gl

(B) il o8 pweine —gug) —@! 9) 47 jio 4l

Choose the correct answer from the options given below :

Options :

5362288201. 1
5362288202. 2
5362288203. 3
5362288204. 4

Question Number : 102 Question Id : 5362282106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Sy i LS i jerme gz siis 8)lw a
(A Js s

B  Jyb st

@ zbSixk

D) liee 3iy lic

(B)  Jlzsigig

Choose the most appropriate answer from the options given below :

Options :

5362288205. 1
5362288206. 2
5362288207. 3
5362288208. 4

Question Number : 102 Question Id : 5362282106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Sy i LS i jerme gz siis 8)lw a
(A Js s

B  Jyb st

@ zbSixk

D) liee 3iy lic

(B)  Jlzsigig

Choose the most appropriate answer from the options given below :

Options :

5362288205. 1
5362288206. 2
5362288207. 3
5362288208. 4

Question Number : 103 Question Id : 5362282107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



bz o ygain” Jiw (Sl
A) Lol ol

B) zleizl Ligels

(C) iy JB pu

D) paliad glieys pillls o7 Guyeli
(B glujlul plies

Choose the most appropriate answer from the options given below :

(D)

, (E) only
D} (E) only
, (E) only

only

=
e
) &
5%
bl

AW oo
5%
bl
—

Options :

5362288209. 1
5362288210. 2
5362288211.3
5362288212. 4

Question Number : 103 Question Id : 5362282107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



bz o ygain” Jiw (Sl
A) Lol ol

B) zleizl Ligels

(C) iy JB pu

D) paliad glieys pillls o7 Guyeli
(B glujlul plies

Choose the most appropriate answer from the options given below :

(D)

, (E) only
D} (E) only
, (E) only

only

=
e
) &
5%
bl

AW oo
5%
bl
—

Options :

5362288209. 1
5362288210. 2
5362288211.3
5362288212. 4

Question Number : 104 Question Id : 5362282108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



" ab e goju 451
(A)  Jezlo sgld call

(B)  Lad sgluwjw

Q) ol sJB gn

©) by 6315) s>

(B)  moli yhio 30y 3145 ygay

Choose the most appropriate answer from the options given below :

Options :

5362288213. 1
5362288214.2
5362288215. 3
5362288216. 4

Question Number : 104 Question Id
Correct Marks : 2 Wrong Marks : 0

: 5362282108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



" ab e goju 451
(A)  Jezlo sgld call

(B)  Lad sgluwjw

Q) ol sJB gn

©) by 6315) s>

(B)  moli yhio 30y 3145 ygay

Choose the most appropriate answer from the options given below :

Options :

5362288213. 1
5362288214.2
5362288215. 3
5362288216. 4

Question Number : 105 Question Id
Correct Marks : 2 Wrong Marks : 0

: 5362282109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



bz pbi "UBB” jiw gax JY pes:
(A)  Jus yog=

(B)  olsl yols

@  olis jiz ~lig) 945 puilul
D) als> il pllgaw

B oI} jliz yysad

Choose the most appropriate answer from the options given below :

Options :

5362288217. 1
5362288218. 2
5362288219. 3
5362288220. 4

Question Number : 105 Question Id : 5362282109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



bz pbi "UBB” jiw gax JY pes:
(A)  Jus yog=

(B)  olsl yols

@  olis jiz ~lig) 945 puilul
D) als> il pllgaw

B oI} jliz yysad

Choose the most appropriate answer from the options given below :

Options :

5362288217. 1
5362288218. 2
5362288219. 3
5362288220. 4

Question Number : 106 Question Id : 5362282110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



3058 walesl @b jie Geio il ges g7 oishie s>

A Ji
(B) ok
@ is
(D) el
E) L3

Choose the correct answer from the options given below :

Options :

5362288221. 1
5362288222. 2
5362288223.3
5362288224. 4

Question Number : 106 Question Id : 5362282110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



3058 walesl @b jie Geio il ges g7 oishie s>

A Ji
(B) ok
@ is
(D) el
E) L3

Choose the correct answer from the options given below :

BowoN o

Options :

5362288221. 1
5362288222. 2
5362288223.3
5362288224. 4

Question Number : 107 Question Id : 5362282111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ololins g2 pas il pp wdls Jas gollaw il e guw” A ojle i :
(A)  olez jlul o3 puygaad Guily

(B)  ule> hio yus vuyde MUS iy 6315

€@ ol oilel gi sl JoSo S5

D) ulgy Cuayl =i

B ol sl iz dg il solyail

Choose the correct answer from the options given below :

Options :

5362288225. 1
5362288226. 2
5362288227. 3
5362288228. 4

Question Number : 107 Question Id : 5362282111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ololins g2 pas il pp wdls Jas gollaw il e guw” A ojle i :
(A)  olez jlul o3 puygaad Guily

(B)  ule> hio yus vuyde MUS iy 6315

€@ ol oilel gi sl JoSo S5

D) ulgy Cuayl =i

B ol sl iz dg il solyail

Choose the correct answer from the options given below :

Options :

5362288225. 1
5362288226. 2
5362288227. 3
5362288228. 4

Question Number : 108 Question Id : 5362282112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BB a2 o)l a1 g2 jie oai "Ll iy
(A el

(B) 08y wiS wis b

€ guib S wed

B bl S

(B objyil

Choose the correct answer from the options given below :

Options :

5362288229. 1
5362288230. 2
5362288231. 3
5362288232. 4

Question Number : 108 Question Id : 5362282112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BB a2 o)l a1 g2 jie oai "Ll iy
(A el

(B) 08y wiS wis b

€ guib S wed

B bl S

(B objyil

Choose the correct answer from the options given below :

Options :

5362288229. 1
5362288230. 2
5362288231. 3
5362288232. 4

Question Number : 109 Question Id : 5362282113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



37 uSib Ggyls:

(A) Ciega) jie ol

(B) o8 Tags

(@) oS Zulg)

(D) SETRTIE AN

(E) obS LiubeS 2oy glwg puyi ilsel

Choose the correct answer from the options given below :

only
only
E) only

Options :

5362288233. 1
5362288234.2
5362288235.3
5362288236. 4

Question Number : 109 Question Id : 5362282113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



37 uSib Ggyls:

(A) Ciega) jie ol

(B) o8 Tags

(@) oS Zulg)

(D) SETRTIE AN

(E) obS LiubeS 2oy glwg puyi ilsel

Choose the correct answer from the options given below :

only
only
E) only

Options :

5362288233. 1
5362288234.2
5362288235.3
5362288236. 4

Question Number : 110 Question Id : 5362282114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



t oyl iglig o5 1a) au gziio pulie “pugl wiliol glgd wild X5y jlas”

) Euluw
B) 3
© 3k
O Jb
B S

Choose the correct answer from the options given below :

Options :

5362288237. 1
5362288238. 2
5362288239. 3
5362288240. 4

Question Number : 110 Question Id : 5362282114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



t oyl iglig o5 1a) au gziio pulie “pugl wiliol glgd wild X5y jlas”

) Euluw
B) 3
© 3k
O Jb
B S

Choose the correct answer from the options given below :

Options :

5362288237. 1
5362288238. 2
5362288239. 3
5362288240. 4

Question Number : 111 Question Id : 5362282115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



& Ly gpeliv s Sl eu g2 31 Ba9)

(A) 455 o)y

B) 25
@ s
D) oSV wls
B  Sab o

Choose the correct answer from the options given below :

Options :

5362288241. 1
5362288242.2
5362288243. 3
5362288244. 4

Question Number : 111 Question Id : 5362282115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



& Ly gpeliv s Sl eu g2 31 Ba9)

(A) 455 o)y

B) 25
@ s
D) oSV wls
B  Sab o

Choose the correct answer from the options given below :

Options :

5362288241. 1
5362288242.2
5362288243. 3
5362288244. 4

Question Number : 112 Question Id : 5362282116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



L gi)d gLl oz ool 47 oilwsl "Siz SeS”
(A) o 29> jhw Glul

B) sl jie gillelse wlaw situ g Luwl
Q) Gl Symie So Garey jw gluil
D) oSy puss Do iins g% glul
(E) ol waipe Mel Aiuw Lol

Choose the most appropriate answer from the options given below :

AW oo

Options :

5362288245. 1
5362288246. 2
5362288247.3
5362288248. 4

Question Number : 112 Question Id : 5362282116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



L gi)d gLl oz ool 47 oilwsl "Siz SeS”
(A) o 29> jhw Glul

B) sl jie gillelse wlaw situ g Luwl
Q) Gl Symie So Garey jw gluil
D) oSy puss Do iins g% glul
(E) ol waipe Mel Aiuw Lol

Choose the most appropriate answer from the options given below :

AW oo

Options :

5362288245. 1
5362288246. 2
5362288247.3
5362288248. 4

Question Number : 113 Question Id : 5362282117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D iz o g2 e guiludl “yes”

(A) S i ¢3S o8

B)  wlLili gig le Ll

@  JaSo yluil pigz 3io gl

(D) SuiSaf jilgl oz o

(B)  Las sublul gz i gil

Choose the most appropriate answer from the options given below :

, (E) only
, (D) only
. (E) only

|
e
_— F e ]

, (E) only

Options :

5362288249. 1
5362288250. 2
5362288251. 3
5362288252. 4

Question Number : 113 Question Id : 5362282117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



D iz o g2 e guiludl “yes”

(A) S i ¢3S o8

B)  wlLili gig le Ll

@  JaSo yluil pigz 3io gl

(D) SuiSaf jilgl oz o

(B)  Las sublul gz i gil

Choose the most appropriate answer from the options given below :

, (E) only
, (D) only
. (E) only

|
e
_— F e ]

, (E) only

Options :

5362288249. 1
5362288250. 2
5362288251. 3
5362288252. 4

Question Number : 114 Question Id : 5362282118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1z a1 g2 jio yuyhis uy S oilusl Shlg lisad ;
(A)  woge il el @lxio S yuy

B)  Zuilo 131 31

(O dabo wize b A w345

(D) b olo aluo- g1y

B cluo vy )Bjg) =

Choose the most appropriate answer from the options given below :

Options :

5362288253. 1
5362288254.2
5362288255. 3
5362288256. 4

Question Number : 114 Question Id : 5362282118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



1z a1 g2 jio yuyhis uy S oilusl Shlg lisad ;
(A)  woge il el @lxio S yuy

B)  Zuilo 131 31

(O dabo wize b A w345

(D) b olo aluo- g1y

B cluo vy )Bjg) =

Choose the most appropriate answer from the options given below :

Options :

5362288253. 1
5362288254.2
5362288255. 3
5362288256. 4

Question Number : 115 Question Id : 5362282119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WM o1 g2 jio gilwsl Gyaiw Laylgr— JsS <oy
B) il

(B)  wilss

Q sy
(D)  woylyd
(B)  ssluwpw

Choose the most appropriate answer from the options given below :

Options :

5362288257. 1
5362288258. 2
5362288259. 3
5362288260. 4

Question Number : 115 Question Id : 5362282119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WM o1 g2 jio gilwsl Gyaiw Laylgr— JsS <oy
B) il

(B)  wilss

Q sy
(D)  woylyd
(B)  ssluwpw

Choose the most appropriate answer from the options given below :

Options :

5362288257. 1
5362288258. 2
5362288259. 3
5362288260. 4

Question Number : 116 Question Id : 5362282120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiw 91358 olls e pusmo Gitis 99Y) ~allo:

List | List Il

) ol 4% 1V oligS jleS

) Sus 45555k j2ixS)silel

1) 3iojlls juo ng g% )3izS sgzs

V) g% oliS o)l SidiS judiaw oy ohS)B 55 lgz a7

H_JE_J ~_||_-:,_:r Pl = 2V

A) )

B) Cugg
Jhgs,
D) lils3l,

( (
( (I
(€) (
( (

1. (A)-
2. (A)-
3. (A)-
4. (A)-

1), (B)-(11), (C)-(l), (D)-(IV)
1), (B)-(1v), (€)-(1), (D)-()
V). (B)-(1), (C)-(lN), (D)-(111)
I, (B)-(1, (C)-(IV), (D)-(1)

Options :

5362288261. 1
5362288262. 2
5362288263. 3
5362288264. 4

—— e, e,
l-\.,..ﬁll-\.,..ﬁll-\.,..ﬁll-\.,..ﬁl
..-'—--..-'—--..-'—--..-'—--

Question Number : 116 Question Id : 5362282120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiw 91358 olls e pusmo Gitis 99Y) ~allo:

List | List Il

) ol 4% 1V oligS jleS

) Sus 45555k j2ixS)silel

1) 3iojlls juo ng g% )3izS sgzs

V) g% oliS o)l SidiS judiaw oy ohS)B 55 lgz a7

H_JE_J ~_||_-:,_:r Pl = 2V

A) )

B) Cugg
Jhgs,
D) lils3l,

( (
( (I
(€) (
( (

1. (A)-
2. (A)-
3. (A)-
4. (A)-

1), (B)-(11), (C)-(l), (D)-(IV)
1), (B)-(1v), (€)-(1), (D)-()
V). (B)-(1), (C)-(lN), (D)-(111)
I, (B)-(1, (C)-(IV), (D)-(1)

Options :

5362288261. 1
5362288262. 2
5362288263. 3
5362288264. 4

—— e, e,
l-\.,..ﬁll-\.,..ﬁll-\.,..ﬁll-\.,..ﬁl
..-'—--..-'—--..-'—--..-'—--

Question Number : 117 Question Id : 5362282121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i i) s 45919 )1 il i ;
List | List Il

(A) 35 3w yl () idl

(B) jiel) 3w puw (

(C) Vgl uz b iw jEweld |(I) EISIS

( (

) Lokl

D} JIJl-‘:‘ﬂ e ,uJ V) Jgo
1. (A)=(I), (B)-(1), (C)-(1l), (D)-(1V)

2. (A)-(11). (B)-(1), (C)-(1V), (D)-(I1)

3. (A)-=(1), (B)-(1), (C)-(1), (D)-(1V)

4. (A)-(IV), (B)-(lIT), (C)-(1N), (D)-(1)
Options :

5362288265. 1
5362288266. 2
5362288267. 3
5362288268. 4

Question Number : 117 Question Id : 5362282121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i i) s 45919 )1 il i ;
List | List Il

(A) 35 3w yl () idl

(B) jiel) 3w puw (

(C) Vgl uz b iw jEweld |(I) EISIS

( (

) Lokl

D} JIJl-‘:‘ﬂ e ,uJ V) Jgo
1. (A)=(I), (B)-(1), (C)-(1l), (D)-(1V)

2. (A)-(11). (B)-(1), (C)-(1V), (D)-(I1)

3. (A)-=(1), (B)-(1), (C)-(1), (D)-(1V)

4. (A)-(IV), (B)-(lIT), (C)-(1N), (D)-(1)
Options :

5362288265. 1
5362288266. 2
5362288267. 3
5362288268. 4

Question Number : 118 Question Id : 5362282122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



53y Llez pumns

List | List Il
(A) 3o uigisl ol (1) puadl
(B) 38k diw blyiw yugl  |(1]) bl
{(C) I_'I-.Lug_q Al J-_uiu ({11} ,;,Sbhi_bl
(D) Linb &y puugi gugl  |(IV) A5S]

L g)lj wlss ums

1. (A)-(1), (B)-(11), (O)-(111), (D)-(IV)
2. (A)-(IV), (B)-(11), (C)-(1), (D)-(11N)
3. (A)-(1v), (B)-(111), (O)-(11), (D)-(1)
4. (A)-(IV), (B)-(I1), (C)-(I), (D)-(1)

Options :

5362288269. 1
5362288270. 2
5362288271. 3
5362288272. 4

Question Number : 118 Question Id : 5362282122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



53y Llez pumns

List | List Il
(A) 3o uigisl ol (1) puadl
(B) 38k diw blyiw yugl  |(1]) bl
{(C) I_'I-.Lug_q Al J-_uiu ({11} ,;,Sbhi_bl
(D) Linb &y puugi gugl  |(IV) A5S]

L g)lj wlss ums

1. (A)-(1), (B)-(11), (O)-(111), (D)-(IV)
2. (A)-(IV), (B)-(11), (C)-(1), (D)-(11N)
3. (A)-(1v), (B)-(111), (O)-(11), (D)-(1)
4. (A)-(IV), (B)-(I1), (C)-(I), (D)-(1)

Options :

5362288269. 1
5362288270. 2
5362288271. 3
5362288272. 4

Question Number : 119 Question Id : 5362282123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiw 80 Jge galyali diwylS ez )i

List | List Il
(A) il JY o5 [(Douily S

(B) wiliw JY 43 (1) 2y ply>jg s

(€) Pﬁﬁ yaho (1) w3

( . (IV) 51 51> ol glig) Fie ~

Loyl ufsfr' T

1. (A)-(1), (B)-(11). (C)-(I), (D)-(IV)
2. (A)-(11). (B)-(1). (C)-(1V), (D)-(1)
3. (A)-(lI), (B)-(1V), (C)-(), (D)-(1)
4. (A)-(IV), (B)-(lIT), (C)-(1), (D)-(11)

Options :

5362288273. 1
5362288274.2
5362288275. 3
5362288276. 4

Question Number : 119 Question Id : 5362282123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiw 80 Jge galyali diwylS ez )i

List | List Il
(A) il JY o5 [(Douily S

(B) wiliw JY 43 (1) 2y ply>jg s

(€) Pﬁﬁ yaho (1) w3

( . (IV) 51 51> ol glig) Fie ~

Loyl ufsfr' T

1. (A)-(1), (B)-(11). (C)-(I), (D)-(IV)
2. (A)-(11). (B)-(1). (C)-(1V), (D)-(1)
3. (A)-(lI), (B)-(1V), (C)-(), (D)-(1)
4. (A)-(IV), (B)-(lIT), (C)-(1), (D)-(11)

Options :

5362288273. 1
5362288274.2
5362288275. 3
5362288276. 4

Question Number : 120 Question Id : 5362282124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



¢ jet Jadui- )Lil:

List | List Il
(A) allzs pudd=i juidy iz (1) gyl
(B) Juzs soili (1) puaioli Y
(©) &AL bgiye (1) 2 JsS
(D) 5bys qummo Ay oylSill wiluwd 5 lhe g)08 (V) Cull

L gylj wlgz umo

A)-(), (B)-(1V), (C)-(1), (D)-(1)
A)-(I1). (B)-(1), (C)-(1), (D)-(1V)
A)-(1), (B)-(1), (C)-(V), (D)-(IN)
A)-(IV), (B)-(11), (C)-(1), (D)-(111)
Options :

5362288277. 1

5362288278. 2

5362288279. 3
5362288280. 4

— p— p— —

1.
2.
£
4.

Question Number : 120 Question Id : 5362282124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



¢ jet Jadui- )Lil:

List | List Il
(A) allzs pudd=i juidy iz (1) gyl
(B) Juzs soili (1) puaioli Y
(©) &AL bgiye (1) 2 JsS
(D) 5bys qummo Ay oylSill wiluwd 5 lhe g)08 (V) Cull

L gylj wlgz umo

A)-(), (B)-(1V), (C)-(1), (D)-(1)
A)-(I1). (B)-(1), (C)-(1), (D)-(1V)
A)-(1), (B)-(1), (C)-(V), (D)-(IN)
A)-(IV), (B)-(11), (C)-(1), (D)-(111)
Options :

5362288277. 1

5362288278. 2

5362288279. 3
5362288280. 4

— p— p— —

1.
2.
£
4.

Question Number : 121 Question Id : 5362282125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



v gy Bi i ggl) jgasne Sludiu

List | List Il
(A) Cuw ag (1) Cwslyail 5 Culgy
(B) Sy )8 (1) 4390 duib
(G yuws S T o e
D) Eubl_gold  |0V) csllbio (i el viss Ealay
olj wls> o

1. (A)=(1), (B)-(l). (C)-(1l1), (D)-(IV)
2. (A)-(ln), (B)-(1), (CQ)-(1vV), (D)-(1)
3. (A)-(1), (B)-(11), (C)-(1V), (D)-(1)
4. (A)-(li), (B)-(1), (C)-(1V), (D)-(11)

Options :

5362288281. 1
5362288282. 2
5362288283. 3
5362288284. 4

Question Number : 121 Question Id : 5362282125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



v gy Bi i ggl) jgasne Sludiu

List | List Il
(A) Cuw ag (1) Cwslyail 5 Culgy
(B) Sy )8 (1) 4390 duib
(G yuws S T o e
D) Eubl_gold  |0V) csllbio (i el viss Ealay
olj wls> o

1. (A)=(1), (B)-(l). (C)-(1l1), (D)-(IV)
2. (A)-(ln), (B)-(1), (CQ)-(1vV), (D)-(1)
3. (A)-(1), (B)-(11), (C)-(1V), (D)-(1)
4. (A)-(li), (B)-(1), (C)-(1V), (D)-(11)

Options :

5362288281. 1
5362288282. 2
5362288283. 3
5362288284. 4

Question Number : 122 Question Id : 5362282126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiw oy 8] s gSa1gl) geasne Siubiw A

List | List 11

(A) G i () ygy 2w sl jio yui)S wrlow 35250
(B) <l JV o) (1) yeli 2y U oot
( (
( (

) sl ilons Sl
V) i diaw &)l s

C) Bl hwgs dazxo

D) wil) ga=)
L gyl wlez umo

AJ-(IV), (B)-(I, (C)-(1n), (D)-(1)
A)-(1), (B)-(1). (C)-(1), (D)-(IV)
A)-(11). (B)-(1). (C)-(IV), (D)-(111)
A)=(1). (B)-(lI1), (©)-(1), (D)-(IV)

Options :

5362288285. 1
5362288286. 2
5362288287.3
5362288288. 4

—— o p——

1,
2
3
4.

Question Number : 122 Question Id : 5362282126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiw gy S s g5500Y) gamne Subi A

List | List 11

(A) G i () ygy 2w sl jio yui)S wrlow 35250
(B) <l JV o) (1) yeli 2y U oot
( (
( (

) sl ilons Sl
V) i diaw &)l s

C) Sily wdway Jaxe

D) wil) ga=)
L gyl wlez umo

AJ-(IV), (B)-(I, (C)-(1n), (D)-(1)
A)-(1), (B)-(1). (C)-(1), (D)-(IV)
A)-(11). (B)-(1). (C)-(IV), (D)-(111)
A)=(1). (B)-(lI1), (©)-(1), (D)-(IV)

Options :

5362288285. 1
5362288286. 2
5362288287. 3
5362288288. 4

—— o p——

1,
2
3
4.

Question Number : 123 Question Id : 5362282127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiy puigasne puiy g5919Y) JBi jgasne :

List | List Il
(A) §ga Rudiis (1) a6 b g51 jo Jow)
(B) wily o) (1) speli puid
(C) Cuilais JEJ o) (i Oldle> Sijg
1. (A)-(1), (B)-(I), (C)-(1), (D)-(IV)
2. (A)-(V), (B)-(1), (C)-(1n), (D)-(0
3. (A)-(In), (BY-(1). (C)-(1), (D)-(IV)
4. (A)-(), (B)-(1), (C)-(1v), (D)-(

Options :

5362288289. 1
5362288290. 2
5362288291. 3
5362288292. 4

Question Number : 123 Question Id : 5362282127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



wiy puigasne puiy g5919Y) JBi jgasne :

List | List Il
(A) §ga Rudiis (1) a6 b g51 jo Jow)
(B) wily o) (1) speli puid
(C) Cuilais JEJ o) (i Oldle> Sijg
1. (A)-(1), (B)-(I), (C)-(1), (D)-(IV)
2. (A)-(V), (B)-(1), (C)-(1n), (D)-(0
3. (A)-(In), (BY-(1). (C)-(1), (D)-(IV)
4. (A)-(), (B)-(1), (C)-(1v), (D)-(

Options :

5362288289. 1
5362288290. 2
5362288291. 3
5362288292. 4

Question Number : 124 Question Id : 5362282128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



win oy g8 g5l LIS :

List | List Il
( () SysouisS Bl ailyS yuipds) < |
( () sjrais ol jailS o)3ls <
Q) Cu g iy 1) jailS Sy als
( (V) e ol 3w o) Suwl |

1. (A)-(1). (B)-(1), (C)-(li), (D)-(IV)
2. (A)-(1), (B)-(1), (C)-(IV), (D)-(I
3. (A)-(10), (B)-(1). (C)-(1V), (D)-(li}
4. (A)-(IV), (B)-(lI1), (C)-(1). (D)-(Il

Options :

5362288293. 1

5362288294. 2

5362288295. 3
5362288296. 4

)
)
)

Question Number : 124 Question Id : 5362282128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



win oy g8 g5l LIS :

List | List Il
( () SysouisS Bl ailyS yuipds) < |
( () sjrais ol jailS o)3ls <
Q) Cu g iy 1) jailS Sy als
( (V) e ol 3w o) Suwl |

1. (A)-(1). (B)-(1), (C)-(li), (D)-(IV)
2. (A)-(1), (B)-(1), (C)-(IV), (D)-(I
3. (A)-(10), (B)-(1). (C)-(1V), (D)-(li}
4. (A)-(IV), (B)-(lI1), (C)-(1). (D)-(Il

Options :

5362288293. 1

5362288294. 2

5362288295. 3
5362288296. 4

)
)
)

Question Number : 125 Question Id : 5362282129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



331' _:,3! -JJCL?

List | List I
(A) L ~5 niliunygS () 4% ol gl
(B) Sluilud blas (1) az oo 31 wiliy juls
(Q) yubnal (1) 983 ~blin S5 2y il
(D) yilaiy il crayls o5 DS IIW} olg> Culsl g% jel)S 3uax
: aplj Lz ausuo
1. (A)-(11), (B)-(1h), (C)-(1V), (D)-(1)
2. (A)-(1), (B)-(I1}, (C)-(11}, (D)-(IV)
3. (A)-(IV), (B)-(11), (C)-(I), (D)-(1)
4. (A)-(1), (B)-(1). (C)-(IV), (D)-(11)

Options :

5362288297. 1
5362288298. 2
5362288299. 3
5362288300. 4

Question Number : 125 Question Id : 5362282129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



331' _:,3! -JJCL?

List | List I
(A) L ~5 niliunygS () 4% ol gl
(B) Sluilud blas (1) az oo 31 wiliy juls
(Q) yubnal (1) 983 ~blin S5 2y il
(D) yilaiy il crayls o5 DS IIW} olg> Culsl g% jel)S 3uax
: aplj Lz ausuo
1. (A)-(11), (B)-(1h), (C)-(1V), (D)-(1)
2. (A)-(1), (B)-(I1}, (C)-(11}, (D)-(IV)
3. (A)-(IV), (B)-(11), (C)-(I), (D)-(1)
4. (A)-(1), (B)-(1). (C)-(IV), (D)-(11)

Options :

5362288297. 1
5362288298. 2
5362288299. 3
5362288300. 4

Question Number : 126 Question Id : 5362282130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Doyl s g guldl pudy ~ahi "Bl

() g5l dlips g3 Wigo s

(B)  blo ~i pgz isli gl jiuwg 3ii

Q) 493 ped big) = viyg W
@ iy lo o e na o 23
B ol psd wiw gaS 35 s gz i

Choose the correct answer from the options given below:

Options :

5362288301. 1
5362288302. 2
5362288303. 3
5362288304. 4

Question Number : 126 Question Id : 5362282130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Doyl s g guldl pudy ~ahi "Bl

() g5l dlips g3 Wigo s

(B)  blo ~i pgz isli gl jiuwg 3ii

Q) 493 ped big) = viyg W
@ iy lo o e na o 23
B ol psd wiw gaS 35 s gz i

Choose the correct answer from the options given below:

Options :

5362288301. 1
5362288302. 2
5362288303. 3
5362288304. 4

Question Number : 127 Question Id : 5362282131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Doy s g3 g iy ealhi g gig o5 b
(A) o biST 25y pgu w90

(B) 34> uilpwle iy JS

(C) Llygigi &59 yuay ulbsi

(D) JS 45§ Cicogs 4% oo

(E) giu gysT o> 3o JuhiB

Choose the correct answer from the options given below:

Options :

5362288305. 1
5362288306. 2
5362288307. 3
5362288308. 4

Question Number : 127 Question Id : 5362282131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Doy s g3 g iy ealhi g gig o5 b
(A) o biST 25y pgu w90

(B) 34> uilpwle iy JS

(C) Llygigi &59 yuay ulbsi

(D) JS 45§ Cicogs 4% oo

(E) giu gysT o> 3o JuhiB

Choose the correct answer from the options given below:

Options :

5362288305. 1
5362288306. 2
5362288307. 3
5362288308. 4

Question Number : 128 Question Id : 5362282132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iy e el gag g0 jlicl Shuily
(A)  Jol5 cuol

(B) waly ge=y

@ @l plle

(D) el gilil:

B el 2k

Choose the correct answer from the options given below:

Options :

5362288309. 1
5362288310. 2
5362288311. 3
5362288312. 4

Question Number : 128 Question Id : 5362282132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iy e el gag g0 jlicl Shuily
(A)  Jol5 cuol

(B) waly ge=y

@ @l plle

(D) el gilil:

B el 2k

Choose the correct answer from the options given below:

Options :

5362288309. 1
5362288310. 2
5362288311. 3
5362288312. 4

Question Number : 129 Question Id : 5362282133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SETIVETC TR TR | BT Py vy

(A)  seiio
(B) ok
Q) uis
()
(B Sl

Choose the correct answer from the options given below:

Options :

5362288313. 1
5362288314.2
5362288315. 3
5362288316. 4

Question Number : 129 Question Id : 5362282133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



SETIVETC TR TR | BT Py vy

(A)  seiio
(B) ok
Q) uis
()
(B Sl

Choose the correct answer from the options given below:

Options :

5362288313. 1
5362288314.2
5362288315. 3
5362288316. 4

Question Number : 130 Question Id : 5362282134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Dy oo gyed 800 (ilusl G
(A)  slsan

B) SIS g% Jlsw

© b8 Jag L

(=) BN FTAR TN PSR

() Jig) g= ol

Choose the correct answer from the options given below:

Options :

5362288317. 1
5362288318. 2
5362288319. 3
5362288320. 4

Question Number : 130 Question Id : 5362282134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Dy oo gyed 800 (ilusl G
(A)  slsan

B) SIS g% Jlsw

© b8 Jag L

(=) BN FTAR TN PSR

() Jig) g= ol

Choose the correct answer from the options given below:

Options :

5362288317. 1
5362288318. 2
5362288319. 3
5362288320. 4

Question Number : 131 Question Id : 5362282135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



F iy gumo g plaz g8 pilwsl " g0

(A)  Usgm ~ylS o35 5 giyia 55 25 madl

(B) &l a2l guitlods I8 sl 2sgS Tncly 43S B3g pll
(@ Juigs ~wl (G2 wilw 5543 T

D) Ludjs gw o gui Caay S ~all

(B)  ~giai5 2347 47592 4505 ~5 ol

Choose the correct answer from the options given below:

Options :

5362288321. 1
5362288322.2
5362288323.3
5362288324. 4

Question Number : 131 Question Id : 5362282135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



F iy gumo g plaz g8 pilwsl " g0

(A)  Usgm ~ylS o35 5 giyia 55 25 madl

(B) &l a2l guitlods I8 sl 2sgS Tncly 43S B3g pll
(@ Juigs ~wl (G2 wilw 5543 T

D) Ludjs gw o gui Caay S ~all

(B)  ~giai5 2347 47592 4505 ~5 ol

Choose the correct answer from the options given below:

Options :

5362288321. 1
5362288322.2
5362288323.3
5362288324. 4

Question Number : 132 Question Id : 5362282136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Py mbws Sy ulem 005 iy gw Riluel ey
A liSiw 5

(B)  sile JL

@ el Jsj

D)  J=igSy

(B)  iaw giw

Choose the correct answer from the options given below:

Options :

5362288325. 1
5362288326. 2
5362288327.3
5362288328. 4

Question Number : 132 Question Id : 5362282136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Py mbws Sy ulem 005 iy gw Riluel ey
A liSiw 5

(B)  sile JL

@ el Jsj

D)  J=igSy

(B)  iaw giw

Choose the correct answer from the options given below:

Options :

5362288325. 1
5362288326. 2
5362288327.3
5362288328. 4

Question Number : 133 Question Id : 5362282137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Py als g ol 90 OIS Lol e

A) L
(B) <laj
€ rolze

D) edsl yulyden U
':Ej LMTJB_SU

Choose the correct answer from the options given below:

Options :

5362288329. 1
5362288330. 2
5362288331. 3
5362288332. 4

Question Number : 133 Question Id : 5362282137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Py als g ol 90 OIS Lol e

A) L
(B) <laj
€ rolze

D) edsl yulyden U
':Ej LMTJB_SU

Choose the correct answer from the options given below:

Options :

5362288329. 1
5362288330. 2
5362288331. 3
5362288332. 4

Question Number : 134 Question Id : 5362282138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iy oo led a0 pilehS gl 108 jie el Jio Guliy 1o naly
(A) oD

(B)  lsdsg

€@ seilu e

D)  5)laxeS A5

(B}  uglxedgs

Options :

5362288333. 1
5362288334. 2
5362288335. 3
5362288336. 4

Question Number : 134 Question Id : 5362282138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



iy oo led a0 pilehS gl 108 jie el Jio Guliy 1o naly
(A) oD

(B)  lsdsg

€@ seilu e

D)  5)laxeS A5

(B}  uglxedgs

Options :

5362288333. 1
5362288334. 2
5362288335. 3
5362288336. 4

Question Number : 135 Question Id : 5362282139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Py 993 glaz ey 025 Jobi )b Giw Gy Saiys"
(A) gl lpd juizs sl

B) oS SsApre

(@ WEVERHT. RPN

(D) i i il pgaso ligg 3345

® oS el st £

Choose the correct answer from the options given below:

Bow oo
rrEr

Options :

5362288337. 1
5362288338. 2
5362288339. 3
5362288340. 4

Question Number : 135 Question Id : 5362282139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Py 993 glaz ey 025 Jobi )b Giw Gy Saiys"
(A) gl lpd juizs sl

B) oS SsApre

(@ WEVERHT. RPN

(D) i i il pgaso ligg 3345

® oS el st £

Choose the correct answer from the options given below:

Bow oo
rrEr

Options :

5362288337. 1
5362288338. 2
5362288339. 3
5362288340. 4

Question Number : 136 Question Id : 5362282140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

133 yitigluw BYS o7 Gwliw wezlaw g cilwsl exiw iy Sii : (A) Assertion

abS wilezyi jiy oobd i giluil 15 584 Lid caluw g% ot (R) Reason
Ulsz aumo g)lj loz 15 gilu e
L l;]lJS Ll.:-vLu'::g el l:r':"t]l .—-_.Lﬁ_"?[R} Pt = 1%a _g_f,.“-r‘_y_u gJI:R] ~J I[r'l"l]l

2. hle g5 (R) o g2 A
3. o 42 (R) ble 4% A)
4 ol Gzxbog 2y (A) 2(R) qusuo gw < i 93(R)) o A)

Options :

5362288341. 1
5362288342.2
5362288343.3
5362288344. 4

Question Number : 136 Question Id : 5362282140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

133 yitigluw BYS o7 Gwliw wezlaw g cilwsl exiw iy Sii : (A) Assertion

abS wilezyi jiy oobd i giluil 15 584 Lid caluw g% ot (R) Reason
Ulsz aumo g)lj loz 15 gilu e
L l;]lJS Ll.:-vLu'::g el l:r':"t]l .—-_.Lﬁ_"?[R} Pt = 1%a _g_f,.“-r‘_y_u gJI:R] ~J I[r'l"l]l

2. hle g5 (R) o g2 A
3. o 42 (R) ble 4% A)
4 ol Gzxbog 2y (A) 2(R) qusuo gw < i 93(R)) o A)

Options :

5362288341. 1
5362288342.2
5362288343.3
5362288344. 4

Question Number : 137 Question Id : 5362282141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

PUN T TR ,P-QF ~igSy )gual oS iz o ourilS gz alai "y T o5 0l : (A)Assertion
oS gy Jlo iy Sran Jiog cuiz 11 oS5 35 o5l geoli :(R) Reason
gz o gyl gz 48§ Gilu gas

1. oS Coling g1 (A) 83 (R) aumo g3 o (R) qumo 43 3 (A)
2.ble g2 (R) o g2(A)

3. bl g% (A) mo g2 R)

4. oS Colog e (A) ~ig2 (R) e 43 o7 (R) quo 47 ~3 (A)

Options :

5362288345. 1
5362288346. 2
5362288347. 3
5362288348. 4

Question Number : 137 Question Id : 5362282141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is
labelled as Reason (R) :

PUN T TR ,P-QF ~igSy )gual oS iz o ourilS gz alai "y T o5 0l : (A)Assertion
oS gy Jlo iy Sran Jiog cuiz 11 oS5 35 o5l geoli :(R) Reason
gz o gyl gz 48§ Gilu gas

1. oS Coling g1 (A) 83 (R) aumo g3 o (R) qumo 43 3 (A)
2.ble g2 (R) o g2(A)

3. bl g% (A) mo g2 R)

4. oS Colog e (A) ~ig2 (R) e 43 o7 (R) quo 47 ~3 (A)

Options :

5362288345. 1
5362288346. 2
5362288347. 3
5362288348. 4

Question Number : 138 Question Id : 5362282142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as Reason (R) :
“ 8 aii S Lol Grlow Sui563 g8l guizle il e (A) Assertion
oy do gl Lwl Lol)5 aijeyi ~el : (R) Reason
: Ulgz o gilj Alls> 15 pily gay
T olsyi G=log ga (A) 1ig2R) o 47 o(R) o g2 -7 (A)
2. hle g2 (R) o g2 (A)
3. hle g% (A) o 47 (R)
4. ols Gelogz) (A) ~igz (R) o 47 &R) o g2~ (A)
Options :
5362288349. 1
5362288350. 2

5362288351. 3
5362288352. 4

Question Number : 138 Question Id : 5362282142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as Reason (R) :
“ 8 aii S Lol Grlow Sui563 g8l guizle il e (A) Assertion
oy do gl Lwl Lol)5 aijeyi ~el : (R) Reason
: Ulgz o gilj Alls> 15 pily gay
T olsyi G=log ga (A) 1ig2R) o 47 o(R) o g2 -7 (A)
2. hle g2 (R) o g2 (A)
3. hle g% (A) o 47 (R)
4. ols Gelogz) (A) ~igz (R) o 47 &R) o g2~ (A)
Options :
5362288349. 1
5362288350. 2

5362288351. 3
5362288352. 4

Question Number : 139 Question Id : 5362282143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement | : 3loij oIS jelle g3 Ll

: Statement llags g3 L BI 2ids (l,
tolsz o g)lj Jlezsily e

1. o 47 olu e 52 bl 4% oly SuiSeS
2. puouo g7 Gl < gui g0

3. ble 42 jlu e g go

4. ble g2 glu p1 3> e 47 gl Suides

Options :

5362288353. 1
5362288354. 2
5362288355. 3
5362288356. 4

Question Number : 139 Question Id : 5362282143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement | : 5laij oIS gielle 33l
: Statement a0 43 LBl 2iw Wl

s ulez qums g)lj dlazgily a

o 4% olo @y 33 ble g2 jly SuiSeS
e 97 glu e gub g
e g7 Gl e g g

Chle g3 ol A 35 s g3 lu Suidgd

o L P =

Options :



5362288353. 1
5362288354. 2
5362288355. 3
5362288356. 4

Question Number : 140 Question Id : 5362282144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement | : bluy ils yhi w8 nisaz 0iS oly Gubis Gupdls
: Statement Il g Jidlb lpie 1508 il il o g% 8 Swls

gz qumo gyl Jla= iy gily ges

o 4% olu 50 hle g3 SuSeS
. hle g5 e ga ga
 PSuo 7 € guil g3

hle g% a9 5> o g7 Suilgs

B

Options :

5362288357. 1
5362288358. 2
5362288359. 3
5362288360. 4

Question Number : 140 Question Id : 5362282144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement | : bluy ils yhi w8 nisaz 0iS oly Gubis Gupdls
: Statement Il g Jidlb lpie 1508 il il o g% 8 Swls

gz qumo gyl Jla= iy gily ges

Lo g7 glu a2 5 hle g% Su3es

. hle g5 e ga ga

 PSuo 7 € guil g3
-ble g% a1 85 o g7 SuidgS

B

Options :

5362288357. 1
5362288358. 2
5362288359. 3
5362288360. 4

Sub-Section Number : 2
Sub-Section Id : 53622883
Question Shuffling Allowed : Yes

Question Id : 5362282145 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



s olez lgaw 913 iyt sl el iy Bgd

ol el 1> g% g yisi 093 pas - plwl “be T 350 g% Lol 43 JoB A "

39 43y~ 2 j8alol 00l mi 55 prlewd 3y (riguig 3 gz eyl ol 03 J3 IS I3 ]

1350 g7 Wl j g i Giudsd Ay glTgas (dlig peaged ~aw g7 glo r\-L&—?S?_S.EL' lq
CQQWBDJPJJ.QJJJMMMAUWLUUUSMNHLﬁ_lu_aEnLg_?qu_:_ﬂ_amuLuln_l

BJMGMWJEMEMJM&@JJ'MJFEL}?JMj_ltw}pdwldg_hﬂ@[_ujl_nsl

-----

Sub questions

Question Number : 141 Question Id : 5362282146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o ol o g% jie gou:
1. asde Wy G olyly gz gin puind 230 o7 Lae GuS ol

2381 138 pilu gz giayl iy 05 o7 dodb 3
3. S)ord 47 15 il=ing <o g
4. o3 3330 Sjgrd igZ gl 1ds Sl

Options :

5362288361. 1
5362288362. 2
5362288363. 3
5362288364. 4

Question Number : 142 Question Id : 5362282147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2zus gl g g% o ga:

b 8 nigh g ~t - glal d dpae o5 glul A5 5550 g5 Lol
o b B S5 pzl Ligs Gl dpae L 3350

Cropen Cuza Aigly oig% i oz o

woiV pigh D3>g A e

Bow oo

Options :

5362288365. 1
5362288366. 2
5362288367. 3
5362288368. 4

Question Number : 143 Question Id : 5362282148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

psus glu o g% o gay:

1419 Sely b ey o5 Shlisl o oSy LS 93 St use 5538

b 8 g% il 13530
. 4l o5 Cacl Sy jai o7 Shlysl Sy LS g3 Sl Mbs 53350

915 g3 dwl o

Fu L P

Options :

5362288369. 1
5362288370. 2
5362288371. 3
5362288372. 4

Question Number : 144 Question Id : 5362282149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s plu g g7 s gas

lial igzs gily lg 2ig% puiwl 350 o5 ko
6 31 g2 3230 o7 2100
. b u\_:mT 3a5e o o

Fu L P —

Options :

5362288373. 1
5362288374.2
5362288375.3
5362288376. 4

Question Number : 145 Question Id : 5362282150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

tusuo ol o g% e geu:

Slai Ju=iw 4% gy

; UlJ {'_LI_JLI-E—J? W L
SIFERWSRITHT.ERE JPVTREY
olai Jul Syl g2 e

oW

Options :

5362288377. 1
5362288378. 2
5362288379. 3
5362288380. 4

Question Id : 5362282145 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



s olez lgaw 913 iyt sl el iy Bgd

ol el 1> g% g yisi 093 pas - plwl “be T 350 g% Lol 43 JoB A "

39 43y~ 2 j8alol 00l mi 55 prlewd 3y (riguig 3 gz eyl ol 03 J3 IS I3 ]

1350 g7 Wl j g i Giudsd Ay glTgas (dlig peaged ~aw g7 glo r\-L&—?S?_S.EL' lq
CQQWBDJPJJ.QJJJMMMAUWLUUUSMNHLﬁ_lu_aEnLg_?qu_:_ﬂ_amuLuln_l

BJMGMWJEMEMJM&@JJ'MJFEL}?JMj_ltw}pdwldg_hﬂ@[_ujl_nsl

-----

Sub questions

Question Number : 141 Question Id : 5362282146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o ol o g% jie gou:
1. asde Wy G olyly gz gin puind 230 o7 Lae GuS ol

2381 138 pilu gz giayl iy 05 o7 dodb 3
3. S)ord 47 15 il=ing <o g
4. o3 3330 Sjgrd igZ gl 1ds Sl

Options :

5362288361. 1
5362288362. 2
5362288363. 3
5362288364. 4

Question Number : 142 Question Id : 5362282147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2zus gl g g% o ga:

b 8 nigh g ~t - glal d dpae o5 glul A5 5550 g5 Lol
o b B S5 pzl Ligs Gl dpae L 3350

Cropen Cuza Aigly oig% i oz o

woiV pigh D3>g A e

Bow oo

Options :

5362288365. 1
5362288366. 2
5362288367. 3
5362288368. 4

Question Number : 143 Question Id : 5362282148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

psus glu o g% o gay:

1419 Sely b ey o5 Shlisl o oSy LS 93 St use 5538

b 8 g% il 13530
. 4l o5 Cacl Sy jai o7 Shlysl Sy LS g3 Sl Mbs 53350

915 g3 dwl o

Fu L P

Options :

5362288369. 1
5362288370. 2
5362288371. 3
5362288372. 4

Question Number : 144 Question Id : 5362282149 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s plu g g7 s gas

lial igzs gily lg 2ig% puiwl 350 o5 ko
6 31 g2 3230 o7 2100
. b u\_:mT 3a5e o o

Fu L P —

Options :

5362288373. 1
5362288374.2
5362288375.3
5362288376. 4

Question Number : 145 Question Id : 5362282150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

tusuo ol o g% e geu:

Slai Ju=iw 4% gy

; UlJ {'_LI_JLI-E—J? W L
SIFERWSRITHT.ERE JPVTREY
olai Jul Syl g2 e

oW

Options :

5362288377. 1
5362288378. 2
5362288379. 3
5362288380. 4

Sub-Section Number : 3
Sub-Section Id : 53622884
Question Shuffling Allowed : Yes

Question Id : 5362282151 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (146 to 150)
Question Label : Comprehension

t olgz pllgw 933 gy puliBl Suol nid : Sigi

slijs Siol nig% 3io puadis wudl puyd B o3 plbual 3)ls 56 451 5ie wily ;i S g2 g

A5 il gyl jio GupilSy lg pllbiol r g wa 7 wilel oS Ji L5S ~ifgy 1§ olaiy ol
elhiol 35 (uhS 42 o) 1231 wolo 2iS ) wgi b nigy) o 83 vl Slai 534 Lol sy )3
wl 38jaigh i b Gab o3 b gl Jiez sl cdu jio guisl GusdlS o dugl 0US ~ijay ol

gz plis (Modernity) g0 wi= JS jl Sl 5 sl oS Jhu (Modern sensibility)

Sub questions

Question Number : 146 Question Id : 5362282152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

rumo 47 gl S jis gy

2llbusl Spac gz guue

e 39y jio 3l slips o33 oTa o4 LAz
colsliyg Filbusl 4wl 5 olwl ily il
- gils Ay I8 Luile) Spac Aig? i LI

P Lo P =

Options :

5362288381. 1
5362288382. 2
5362288383. 3
5362288384. 4

Question Number : 147 Question Id : 5362282153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o g% gly yuS jio gau:

)3 93yl 3o ud Bjls zllhusl gz j ~igh cilel

33 93l 3o s Kjls 2llhusl gz j 43 wilel

3 1530501 3he g Sils 2ol gz § g% wilel

- 0le> ys) 4 ol Jawls jluw Sl pllhiol gLz § g7 wilel

Options :

5362288385. 1
5362288386. 2
5362288387.3
5362288388. 4

S

Question Number : 148 Question Id : 5362282154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

2o g% olu s jie gas:

1. 39730 Sgl Jiwz sl ~lS siwgl ~igp ~iilg ja1 ZAlbuol g

2. ol yuyb b o Juwls bu gugl A4y g1 dilg jgu 2ilbuol 12>

3. 23730 jpb iy Juwly jluw A5 Gwgl A4y gy 20ils 51 2lhs] g
4.3523m o814 3o b Jaw U jlwsi oy Jiswg| ~yaps oiilgyas ZMol gz

Options :

5362288389. 1
5362288390. 2
5362288391. 3
5362288392. 4

Question Number : 149 Question Id : 5362282155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



130T gosd g B Gleio »34) igs Sl 11
33005 3l )b 481 Glwie (S5 g2 o Slpu> s
cJie Sugi o5 Suily 7 Sl s

- olg= ol puy Lis iy i Sl 1

B

Options :

5362288393. 1
5362288394. 2
5362288395. 3
5362288396. 4

Question Number : 150 Question Id : 5362282156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o g7 ol S jie gas

ol 401> 3> yuyaeh Gusl oy (Slpu> i

- ol g cigz puyeeb Ll puily GSlws 1

- @lg ~ylS i pugl > cigd WSl L

- obis puisyb jab o5 gujpbs Gid) L1z ige Sl L

N T A

Options :

5362288397. 1
5362288398. 2
5362288399. 3
5362288400. 4

Question Id : 5362282151 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (146 to 150)

Question Label : Comprehension



t olgs g 913 g3y pwlisl Suel nid 1 Sig

sliys Siel Mﬁ?}m oM sl gy B o zllbusl 3)lg 5l 431 3o (il ;o 8 gz giu>
23 b 99yl je GupdlSy Iy pluol )y a3 el (ylais i (S cgp )5 elai ol
elhiol 35 (U1S 42 aoes) Ford wiolo 7S o) vl b i) o 85 wilhie Siad 3 Lol sy
wd 8855isl inl b G3b o3 b o Jhez sl i e puisl Gu bl o Susl oS ~fjap o ls
~o Sl 1> g i b

4= plis (Modernity) gi wi= JS jl il s sl S s (Modern sensibility)

Sub questions

Question Number : 146 Question Id : 5362282152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o g% glu S jie gay:

1. zlhusl spac » gz g v

2. He js) _Jlﬂ' il gliyg r_\-'"ﬁ ] mﬂgjvgu_ahl_tp _
3. ulsliys zillusl Ay ol 25 ol il il
4. gilg 3y 8 uilej Spac ~igh yuy w1

Options :

5362288381. 1
5362288382.2
5362288383. 3
5362288384. 4

Question Number : 147 Question Id : 5362282153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o g% gly yuS jio gau:

)3 93yl 3o ud Bjls zllhusl gz j ~igh cilel

33 93l 3o s Kjls 2llhusl gz j 43 wilel

3 1530501 3he g Sils 2ol gz § g% wilel

- 0le> ys) 4 ol Jawls jluw Sl pllhiol gLz § g7 wilel

Options :

5362288385. 1
5362288386. 2
5362288387.3
5362288388. 4

S

Question Number : 148 Question Id : 5362282154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

2o g% olu s jie gas:

1. 39730 Sgl Jiwz sl ~lS siwgl ~igp ~iilg ja1 ZAlbuol g

2. ol yuyb b o Juwls bu gugl A4y g1 dilg jgu 2ilbuol 12>

3. 23730 jpb iy Juwly jluw A5 Gwgl A4y gy 20ils 51 2lhs] g
4.3523m o814 3o b Jaw U jlwsi oy Jiswg| ~yaps oiilgyas ZMol gz

Options :

5362288389. 1
5362288390. 2
5362288391. 3
5362288392. 4

Question Number : 149 Question Id : 5362282155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



o 43 olu S jie ge:

1. jgead ggei 2y 5 Gloio (34 ~ig% Sl 11
2. j5u0 3ylg )li 51 Glwio (315) gz L Slpu 1o
3. Jie Sugi o7 Suily 37 wiSluws 1
4. olg=ilS by gy Wiy iy s Sl 0
Options :
5362288393. 1
5362288394. 2

5362288395. 3
5362288396. 4

Question Number : 150 Question Id : 5362282156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o g7 ol S jie gas

ol 401> 3> yuyaeh Gusl oy (Slpu> i

- obi3 gz cigz s ool pudiy LShwe Lo

- @l ~iglS i ugi b1z AigF GSlhwe Wi

- abis puisyb jab o5 pujpb pindj 11> cigr WSl 1>

P L P =2

Options :

5362288397. 1
5362288398. 2
5362288399. 3
5362288400. 4



